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From the list given below 1dentify those competencies of an effective teacher which r
the domain of personality and attitude.

(a) Locus of control

b) Communicating

{c) Managing

(d) Self—efficacy

(e) Teacher enthusiasm

() Being orgamsed and orderly

Select the correct answer from the options given below :

(1) (a). (b) and (c) (2) (a). (d) and (e)
(3) (b). (c) and (d) (4) (d). (e) and (£
Options:

51547516101, 1
61547516102 2
51547516103 3
£1547516104. 4

Question Number : 1 Question Id : 6154754129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547516101, 1
51247518102 2
51547516103 3
51547516104 4

Question Number : 2 Question Id : 6154754130 Question Type: MCQ Option Shuffling : No Display Question Number : Y es
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In the spectrum of teaching methods which of the following will be called “dialogic™?

(a)
(b)
(c)
(d)
(e)

Demonstration method
Problem—solving method
Chalk and talk method
Team teaching based method

Interactive prezentation
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615475168106, 2 Personal Exams Guide
61547516107, 3
51547516108, 4

Question Number : 2 Question Id : 6154754130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1) (a). (b) W (© 2)  (b), (c) ¥ (d)
(3) (). (d) ¥ (e) (4) (b). (e) = (f)
Options:

51547516105 1
615475168106, 2
61547516107, 3
51547516103, 4

Question Number : 3 Question Id : 6154754131 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which level of teaching, lower level learning outcomes get focussed?
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Correct Marks: 2 WrongMarks: 0
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Options:

61547516103, 1
61547516110, =
51547516111, =
B15475168112. 4

Question Number : 4 Question Id : 6154754132 Question Type: MCQ Option Shuffling: No Display Question Number : Y es
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following evaluation systems belongs to the category of being an innovati
practice?

(1) Semesterized examinations (2) Performance evaluation
(3) Portfolio based evaluation (4) Learning outcome based evaluation
Options:

£1547516113. 1
51547516114 2
615475168115 3
61547516116, 4

Question Number : 4 Question Id : 6154754132 Question Type: MCQ Option Shuffling : No Display Question Number : Y es
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

51547516113 1
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The purpose of ICT use in education 1s to 'repp

(1) Attract students (2) Make teaching interesting

(3) Optimise learning outcomes (4) Promote technology culture in teaching
Options:

51547516117, 1
51247518118 2
B15475168113. 2
61547516120, 4

Question Number : 5 Question Id : 6154754133 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547516117, 1
515475161158 2
51247518113 3
B1547516120. 4

Question Number : 6 Question Id : 6154754134 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In the post positivistic approach to research which of the following types of researches

emphasized?
{a) Experimental research
(b) Phenomenological research

(c) Ethnographiec research
(d) Ex Post Facto research

(e) Action research
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61547516123 3
61547516124 4

Question Number : 6 Question Id : 6154754134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (a). (b) 741 (c) (2) (b), (c) a4 (d)
(3) (b). (c) 74T (&) (4) (c). (d) 741 ()
Options:

Blz475168121. 1
61547516122 2
61547516123 3
61547516124 4

Question Number : 7 Question Id : 6154754135 Question Type: MCQ Option Shuffling : No Display Question Number : Y es
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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In which of the following formats. ‘Research Abstract’ 1s a must?

ersonal Exams Guide

(a) Research article
(b) Seminar paper presented
(c) Thesis

(d) Research synopsis

Choose the most appropriate option from those given below :

(1) (a). (c) and (d) (2) (a), (b) and (d)
(3)  (a). (b) and (c) (4)  (b). (c) and (d)
Options:

61547516125 1
E1547516126. 2
Bl547518127. 3
B1547516125. 4

Question Number : 7 Question Id : 6154754135 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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61547516125, 4

Question Number : 8 Question Id : 6154754136 Question Type: MCQ Option Shuffling : No Display Question Number : Y es
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following sequences represents the most logical sequence 1n doing research?

(1) Identifying and defining a research problem. formulating a hypothesis, testing «
hypothesis and reporting the results

(2) Identify a research problem. defiming the population and sample, collecting data an
analysis of data

(3) Survey of research. defining the research problem. collecting data and presenting th
outcomes

(4) Defining research wvariables, hypothesizing. testing of research and reporting ¢

rezearch outcomes

Options:

651547516129 1
61547516120 2
61547516121 2
61547516122 4

Question Number : 8 Question Id : 6154754136 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
1547516129 1
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A umiversity teacher intends to study the relationship between level of a&mﬂ; orl A
achievement of rural children. Which design of research will be most appropriate In 1
context?

(1) Experimental research design (2) Ex Post Facto research design
(3) Historical research design (4) Survey research design
Options:

Blz475168123. 1
Bl54r75168124. 2
61547516135 3
61547516136, 4

Question Number : 9 Question Id : 6154754137 Question Type: MCQ Option Shuffling : No Display Question Number : Y es
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ot favafaarem = v e =1 9z o= 2 1% ardior s=i i suafea @ 33 smeien & =1 % 9%
Hea F A R S 59 T = g w g 1w W - tasen e st I 2w ¢

(1)  TEPTeS Ta-ATaEeg (2) AN IEH-HATHHT
(3)  UfAETfE wg-sAiaey (4)  TEET Y- ST
Options:

Blz475168123. 1
Bl54r75168124. 2
61547516135 3
61547516136, 4

Question Number : 10 Question Id : 6154754138 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hypothesis testing 1s the main concept of which type of research?

(1) Experimental research (2) Historical research
(3) Survey research (4) Exegetic research
Options:

E1547516157. 1
B1547518128. 2
EI1EATEIR]I =T =
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Options:

61547516137, 1
61547516128, 2
51547516123 2
B1547516140. 4

Question Number : 11 Question Id : 6154754139 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Communication 1n the classroom takes place in which of the following levels?

(1) Opportunistic meaning (2) Surfacial meaning
(3) Noise-level meaning (4) Non-coded meaning
Options:

51547516141, 1
61547516142 2
61547516143 2
51547516144 4

Question Number : 11 Question Id : 6154754139 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547516141, 1
61547516142 2
61547516143 2
1547516144 4
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Question Number : 12 Question Id : 6154754140 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
THTE T U AT T AT B o

1) s o (2) SteAioT e
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Options:

B1547516145. 1
Bl547516146. 2
61547516147 3
51547516145, 4

Question Number : 13 Question Id : 6154754141 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Learner communication has relatively high potential of challenging

(1) Teaching as profession (2) Innovative and creative ideas
(3) Methods of evaluation (4) Long-held attitudes
Options:

51547516143 1
61547516150, 2
51547516151, 2
51547516152 4

Question Number : 13 Question Id : 6154754141 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Which of the following are rhetorical techmiques for structuring classroom communication

(a) Relating the day’s topic to students’ interests

(b) Providing scattered information to the target audience

(c) Smooth transition from one i1dea to another

(d) Avoiding the use of artifacts

(e) Using media to improve the quality aspect of reception of messages

(£) Opting for one-way communication

Choose the correct option from the choices given below :

(1) (a). (b) and (c) (2) (b). (c) and (f)
(3) (a). (¢) and (e) (4) (d). (e) and (D
Options:

51547516153, 1
61547516154 =
61547516155 2
B15475168156. 4

Question Number : 14 Question Id : 6154754142 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Reason (R).

Assertion (A):  Defining the objectives of the topic of dicussion 1s not necessarily the fir

step 1n classroom communication

Reasons (R) : Clear definitions of objectives make students understand the topic well.

In the light of the above stated two statements, choose the correct option from the cholc

given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 18 not the correct explanation of (A)
(3) (A) 18 true, but (R) 1s false

(4) (A) 1z false, but (R) 1s true

Options:
1547516157 1

51247518158, 2
£1547516153. 2
61547516160, 4

Question Number : 15 Question Id : 6154754143 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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61547516157, 1 prepp

6154?516158 2 our Personal Exams Guide
51547516159 3
£1547516160. 4

Question Number : 16 Question Id : 6154754144 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A 1s father of B and C 1s sister of A. D 1s grandson of C. How 1s D related to B?

(1) Unecle (2) Nephew
(3) Cousin (4) Grandson
Options:

£1547516161. 1
B1547516162. 2
615475168163 3
51547516164 4

Question Number : 16 Question Id : 6154754144 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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-

(1) ELEL (2) 9dr=n
(3) == 9E (4) O
Options:

51547516161, 1
61547516162 =
E1547516163. 3
Blz47516164. 4

Question Number : 17 Question Id : 6154754145 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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Question Number : 17 Question Id : 6154754145 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i x:y=7:9 @ 3x—5y:dx+y= 7

—-24 —22
(1) ] 2 —
37 37
15 42
(3) = & =
22 f‘ 37
Options:
681547516165 1
61547516166 2
61547516167 3
61547516168 4

Question Number : 18 Question Id : 6154754146 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

H HPU =9, JNU =9, then DL =%

(1) 5 (2) 6
(3) + (4 7
Options:

51547516163, 1
Bl547516170. 2
£1547516171. 3
61547516172 4

Question Number : 18 Question Id : 6154754146 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Iz HPU =0, JNU=9, @i DU= 7

(1) 2 (2) 6
(3) 4 4 7
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Which one 1s the wrong number in the given series?

3. 13. 43. 53. 63, 83.

(1) 13 (2) b3
(3) 63 (4) 83
Options:

61547516173 1
51547516174 2
51247518175 3
Bl5475168176. 4

Question Number : 19 Question Id : 6154754147 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

e 4@l B et S HiE 5 2 7

3. 13, 43, 53, 63, 83

(1) 13 (2) 53
(3) 63 (4) 83
Options:

51547516173 1
61547516174 =
E1547516175. 3
Blz47518176. 4

Question Number : 20 Question Id : 6154754148 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A sum of money with compound interest becomes Rs. 2.400 1n one year and Rs. 3,000 1n 1
yvears. Find out the principal amount.

(1) Rs. 1,900 (2) Rs. 1910
(3) Re. 1.915 (4) Rs. 1,920
Options:

B1547516177. 1
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(1) 1900 =. (2) 1910 =,
(3) 1915 %. (4) 1920 %

Options:

Blz475168177. 1
Bl547516178. 2
61547516173 3
61547516180, 4

Question Number : 21 Question Id : 6154754149 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The term “Yogaja’ (intuitive) pertains to which of the following pramanas?

(1) Perception (2) Inference
(3) Verbal testimony (4) Comparison
Options:

615475161581, 1
E1547516182. 2
Bl247516183. 2
Bl5475161854. 4

Question Number : 21 Question Id : 6154754149 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“TATH” weE HeTeEd TE | Eay getad 27

(1) s | (2) =HAE
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Options:

£15475161581. 1
615475168182 2
615475168183, 3
61547516154 4
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In which of the following propositions, both can be true simultaneously but cannot-be-fads
simultaneously?

(1) Contrary (2) Contradiction
(3) Sub contrary (4) Subaltern
Options:

£1547516185. 1
61547516186, 2
615475168187, 3
615475161858, 4

Question Number : 22 Question Id : 6154754150 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  Taodari (2) TawrETaTE
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Options:

51547516185, 1
61547516186, 2
61547516187, 2
E154751681858. 4

Question Number : 23 Question Id : 6154754151 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following pramanas 1s used by classical Indian school of logic to prove
existence of God?

(1) Arthapatti (postulation) (2) Upamana (comparison)
(3) Perception (Pratyaksa) (4) Inference (anumana)
Options:

51547516183, 1
61547516130, 2
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A

(1) AT (2) Z9AH
(3) IR (4) TEH
Options:

51547516183, 1
61547516130, 2
515475161391, =
515475168132 4

Question Number : 24 Question Id : 6154754152 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“All tigers are animals™. This 1s an example of which type of proposition?

(1) Particular Negative (2) Particular Affirmative
(3) Universal Negative (4) TUniversal Affirmative
Options:

B15475161393. 1
61547516154 2
61547516135 3
515475161396, 4

Question Number : 24 Question Id : 6154754152 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547516152. 1

£15475161594 2
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The inference “A mouse 1s an animal. Therefore, a large mouse 1s a large animal™ vomim
which one of the following fallacies?

(1) Straw man (2) Shpper slope
(3) Equivocation (4) Fallacy of composition
Options:

61547516137, 1
515475161393, 2
5124751681393 3
B1547516200. 4

Question Number : 25 Question Id : 6154754153 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

]

“T[ET U U9 2| A UF A9 gA UF 931 99 2|7 F Fawa FH 47 ahay #

(1) w8 (2) fevd] =
3)  wFHFY (4) TuE M
Options:

515475161397, 1
5124751813958, 2
B154751681393. 2
61547516200, 4

Sub-Section Number: 2
Sub-Section Id: 615475186
Question Shuffling Allowed : Yes

Question Id : 6154754154 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior
Questions: No

Question Numbers: (26 to 30)
Cuestion Label - Comprehension
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Directions (Que. : 26-30) 'repp

The following table gives the sales of computers of different types or brands over the ye
2001 to 2007. Based on data, answer the questions (26 — 30).

Number of different types of computers sold (In thousands).

Tvpes of Computers
Lenovo | Acer | IBM | HCL
2001 20 40 50 80
2002 30 25 60 70
2003 50 50 50 55
2004 60 70 40 35
2005 70 85 70 25
2006 30 45 80 20
2007 90 60 | 100 10

Years

-

Sub questions

Question Number : 26 Question Id : 6154754155 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The difference in the number of Acer computers sold 1n 2002 and 2005 1s

(1) 15.000 (2) 20,000
(3) 45.000 (4) 60.000
Options:

51547516201, 1
Blz47516202. 2
B1547516203. 3
51547516204 4

Question Number : 27 Question Id : 6154754156 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

The percentage increase in the sales of Lenovo computers in 2007 compared to sales
2001 1s

(1) 200% (2) 250%

(3) 300% (4) 350%

Options:
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: : . _reg
Name the type of computer for which the total sale in all the seven years 1s magal :p

(1) IEM (2) Lenovo
(3) Acer (4) HCL
Options:

51547516203, 1
Bl547516210. 2
B1547516211. 3
61547516212, 4

Question Number : 29 Question Id : 6154754158 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which vear, the percentage of Acer computers sold as to the total number of computs
sold. was maximum?

(1) 2003 (2) 2004
(3) 2005 (4) 2007
Options:

61547516213 1
61547516214 Z
51547516215 3
Bl547516216. 4

Question Number : 30 Question Id : 6154754159 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Name the type / brand of computer whose sale has decreased continuously over the ye
2001 to 2007.

(1) Lenovo (2) Acer
(3) IBEM (40 HCL
Options:

61547516217, 1
61547516218, 2

£1547516219. 2
CICATCA Coory A
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frefetas arfer1 7 99 2001 & 2007 % 3nE 70 fafem wm 1w 3 % Fogen i faht #:i g
2| STRST & FATIE W v HET (26-30) I S0
s U fafys TR % Feged i @ (RN )

; FH H TR
T [T | | o A ow | o
2001 20 40 50 80
2002 30 25 60 70
2003 50 50 50 55
2004 &0 70 40 35
2005 70 B85 70 25
2006 80 45 50 20
2007 a0 &0 100 10

Sub questions

Question Number : 26 Question Id : 6154754155 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

=4 2002 T9T A9 2005 F 9 T UHE FOI i TEAT H A 9K A 7

(1) 15.000 (2) 20,000
(3) 45.000 (4) 60,000
Options:

51547516201, 1
B1547516202. 2
61547516203, 3
51547516204 4

Question Number : 27 Question Id : 6154754156 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

a9 2001 ° 7% foehi =i g1 1 99 2007 ° a1 Foger it foefi g A wfaoa i gfg 52 27
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Question Number : 28 Question Id : 6154754157 Question Type: MCQ Option Shuffling: No Display QuesticrNemiyer Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

H FGZT F THF FAST TAEl FeF Tl T A 991 % 20 ATTwan T

(1) sy ) wEE
@) R 4) T=HiTE
Options:

61547516203, 1
61547516210 2
61547516211, 2
E1547516212. 4

Question Number : 29 Question Id : 6154754158 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o = e g i fafl = Uiae Fe 9ok Foge =i me i ge J sAtashan T 9

(1) 2003 (2) 2004
(3) 2005 (4) 2007
Options:

61547516213 1
61547516214 =
51547516215 2
Bl547516216. 4

Question Number : 30 Question Id : 6154754159 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

6 THE/FE T T F AW g4, Taeed fad 5 39 2001 F 99 2007 F 59 FE9 fREg = R

(1)  =EE (2) TR

(3) TS # TR (4) = H A
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Question Number : 31 Question Id : 6154754160 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In computer related activities. which of the following 1s i1nappropriate for describing

language translator?

(1) Assembler (2) Compiler
(3) Interpreter (4) Codec
Options:

61547516221, 1
61547516222 Z
E1547516223. 3
Bl547516:224. 4

Question Number : 31 Question Id : 6154754160 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FO T Falad Mataraal § ol 99 SHaeE® & avd F oy HeEeiEd o H w5 99T 2

(1)  wH= (2) FUEH
(3) T (4) =T
Options:

61547516221, 1
61547516222 2
61547516223 2
E1547516224. 4

Question Number : 32 Question Id : 6154754161 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following 15 most suitable for being designated as Fourth Generation Langus
(4GL)?

(1) ALGOL (2) Java
(3) C (4) SQL

P o Y L
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(1) T©u" o E (2) =man
(3) = (4) T
Options:

Bl547516225. 1
61547516226, 2
61547516227 3
61547516225, 4

Question Number : 33 Question Id : 6154754162 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — one 1s labelled as Assertion (A) and other as Reason (R)

Assertion (A):  Smiffing may be used to steal data or information over a network.

Reasons (R) : Sniffing 1s a process of monitoring and capturing all data packets pass
through given network.

In the light of the above stated two statements, choose the correct option from the choi
given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 18 true, but (R) 1s false
(4) (A) 1s false, but (R) 1s true
Options:
61547516229 1
61547516230 2

61547516221, 2
E1547516232. 4

Question Number : 33 Question Id : 6154754162 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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T 31 T T5U T E - U H SAEYE (A) ¥ 5 wYH F a6 (R) T R prepp

AHF (A) : T =1 TR St 96 w1eEn () Sea | Hetad 9EA1 9 6 e e | 5

T (R) : FT®T wew 2ad & ure 9 T e "l S el ) T 37 3 e o

S ST 2 e T e e § 3w e

(1) (A) =7 (R) 3F1 1 = 311 (R). (A) =i 921 =am=n 2

(2)  (A) =W (R)5F1 T# 2, T (R). (A) F1 T2 = 78 2
(3) (A= 2, g R) == = =

4 (A TFEFE 2, R R) T

Options:

61547516229 1
61547516220 2
1547516221 2
61547516222 4

Question Number : 34 Question Id : 6154754163 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following terms 1s related to the digital learning environment for design?

(1) e-Vidwan
(2) e-Acharya
(3) e-Kalpa
(4) e-Yantra
Options:
1547516233,
1547516224,

61547516235,
61547516236,

R N Y

Ouestion Niuimber * 24 Ouestion 1d - 6154754162 Otuestion Tvbe: MCO Ontion Shufflina - No Disnlav Otiestion Ntimber * Ye
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(1) =-Tamam

(2) - HAEME

(3) ==
4 -
Options:

Blz47516223. 1
Bl54r7516:234. 2
61547516235 3
61547516236, 4

Question Number : 35 Question Id : 6154754164 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following tools is a collaboration tool for providing wirtual classroc

environment?
(1) A-Tab
(2) A—View
(3) A-Tutor

(4) A-Tearner

Options:

61547516237 1
61547516238 2
615475162393 2
E1547516240 4

Question Number : 35 Question Id : 6154754164 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frafafad 4 @ 0 31 77 (7)) A9 =9 w5 ThEw Y2 e o v aEer o= (29) 37
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61547516238 2 prepp

61547516233, 3 Personal Exams Guide
61547516240, 4

Question Number : 36 Question Id : 6154754165 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Methane. a greenhouse gas. 1s emitted from

(a) landfills

(h) construction debris
(c) wet lands

(d) e-waste

Choose the correct statements from the options given below :

(1) {a). (b) and (d) (2) (a). (c) and (d)
(3) (a) and (c) only (4) (a)and (d) only
Options:

51547516241, 1
61547516242 =
51547516243 3
Bl547516244. 4

Question Number : 36 Question Id : 6154754165 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fi2q, v Ui 2E 19, FeieiEa § | EE 3oty 2 2 7

(a) E:: :E .:f- ]

i) o 19 % 5o

(c) ALY

(d) E—3qT9TE

feftEa 7 8 78 faes =29

(1) (a). (b) 3 (d) (2)  (a). (¢) 3 (d)

(3)  =Fad (a) 2 () (4)  Fa (a) 37 (d)
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The share of which of the following sources of energy in electricity generati%z:ngg}gea
present 1s the least?

(1) Thermal (2) Solar and Wind
(3) Hydro (4) Nuclear
Options:

61547516245 1
61547516246, 2
Bl547516247. 3
B15475162458. 4

Question Number : 37 Question Id : 6154754166 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

9 7 e[ seqe 4 998 | Fefatad 9 e s am e e 20
(1)  ad= (2) =R ¥ T
{3} .H.Jl:n {4} e 'ﬁ-'

Options:

61547516245 1
61547516246, 2
61547516247, 2
Bl547516248. 4

Question Number : 38 Question Id : 6154754167 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Biosphere reserves are :

(1) area comprising terrestrial. marine and coastal ecosystems
(11) monitored by national governments
(1) areas where threatened animals and plants are kept in their habitat

(tv)  wildhife sanctuaries

Choose the correct statements from the options given below :
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61547516250 2 prepp
E‘- 1 54?5 1 625 1 3 Your Personal Exams Guide
61547516252 4

Question Number : 38 Question Id : 6154754167 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
9 AATlET #E (SR ) B o
(1) -9, AHigF 3R q2adl qii—as aret 3T

(i)  TYE TR gRT T

(i) o SATF TE FRZ-TET TS Ul K 39 TAEE ° T 9 R

(v) I g

ftatad fawea 0 F T8 99 =94

1) @) =" )
(2) (i) 317 (i)
(3) (i) FW (iv)
4 @ Gv)

Options:
1547516249 1

515475168250, 2
51547516251, 3
61547516252, 4

Question Number : 39 Question Id : 6154754168 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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A green building rrepmp
(1) uses minimum amount of energy
(11) generates waste

(1) consumes a lot of water
() conserves natural resources

(v) creates space for healthy living

Choose the correct statements from the options given below :

(1) (1), (11) and (111)
(2) (1). (1v) and (v)
(3) (11), (111) and (v)

(4) (). (v) and (v)
Options:
51547516252 1
51547516254 2
51547516255 3
51547516256, 4

Question Number : 39 Question Id : 6154754168 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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TF A dAHd w9 (A fafeE)

1) I Sl ST A A

()  oTaTE giEd w E |

(i) @A AGF 7 F T FA
(iv) i HETEAT FT HUEAT AT A

(v) Ty e F fou wum geA o 2

frfetaa fTweT @ 9 =7 FF 99

(1) (). (i) 37 (iid)
2) (@, (v) T (V)
(3)  (ii). (iil) W (v)

4) (). (iv) 3T (v)

Options:

61547516253 1
61547516254 2
61547516255 2
1547516256 4

Question Number : 40 Question Id : 6154754169 Question Type: MCQ Option Shuffling: No Display Question Number
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

National Disaster Management Authority 1s an agency of the Ministry of

(1) Jal Shakt: (2) Home Affairs
(3) Earth Science (4) Housing and Urban Affairs

TSR Sl e Wit Fefataa d 8 e g oo el 27

pp— | -~

ersonal Exams Guide

T Ye
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Questl%n Number : 40 Question Id : 6154754169 Question Type: MCQ Option Shuffling : No Display Questic'melppe
Single Line Question Option : No Option Orientation : Vertical our

Correct Marks: 2 WrongMarks: 0
TEE I TSEE T Hefeiad | e Herer i U v 27
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(1) =< =i (2 T=FHE
(3) gl = (4) Em AT TR FE
Options:

B15475168257. 1
B1547516258. 2
61547516253 3
61547516260, 4

Question Number : 41 Question Id : 6154754170 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the distinctive feature of traditional method of Indian education from the follow

list :

(1) "Direct perception of truth’ — both as means and end
(2) Making everything on "Trust’

(3 Evolving own way of learming

(4) Following Nvayva Philosophy with Deductive — Inductive Process

Options:

61547516261 1
61547516262 2
61547516262 2
1547516264 4

Question Number : 41 Question Id : 6154754170 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
frafefaa o= @ @ wudig foren $i orafes g = fafoe @an $1 gm=m fife
(1) =9 & T35 99 51 18 959 & =4 W
(2)  TavaE & FUR W FEFs 2

(3) T % 3199 90 i ST F



www.prepp.in
Questl%n Number : 42 Question Id : 6154754171 Question Type: MCQ Option Shuffling : No Display Questic'melppe
Single Line Question Option : No Option Orientation : Vertical our

Correct Marks: 2 WrongMarks: 0

Personal Exams Guide

Which of the following provides the overarching wvision that guides research into soci:
relevant-areas?

(1) ARITA (2) IMPRINT
(3) NIRF (4) SWAYAM PRABHA
Options:

61547516265, 1
615475168266, 2
61547516267, 3
E1547516265. 4

Question Number : 42 Question Id : 6154754171 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ﬁm’r—«lf@?lnﬂq—nwm—m’@ :;ﬁzxm AT ﬁmququmqu{?m?
23

(1) TR E AET (2) s vg 9 3R o v A

(3) T I AW UF (4) =5 T

Options:

B1547516265. 1
Blz4751B266. 2
Bl54751B267. 3
61547516268, 4

Question Number : 43 Question Id : 6154754172 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which of the following, *One Nation, One Standard’ 1s mentioned as the ‘'mantra’ to ens
national standards and quality.

(1) National Policy on Education — 1968
(2) National Policy on Education — 1986

(3) National Policy for Skill Development and Entrepreneurship — 2015
(4) NITI Aayog — Three Year Action Agenda — 2017—18 to 20192020

S~
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@

(1) g fore Hifa-1968

(2) U e AE-1986

(3) U Fiue fa=E Ud FEHAT Ad-2015

(4) T smEm-EeE FEE-gE-2017-18  2019-2020
Options:
61547516269, 1
61547516270, 2

E1547516271. 3
Blz47516272. 4

Question Number : 44 Question Id : 6154754173 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Non-traditional teaching and learming strategies lay emphasis on

(1) Students’ need based resource materials and learning standards
(11) Developing skills, attitude and values

(in)  Promoting In-Box thinking process

(1v) Lecture based model

(v) Acquiring knowledge necessary to respond creatively

Select yvour answer from the following options :

(1) (1). (11) and (v) (2) (). (1) and (av)
(3) (111), (1v) and (v) (4) (), v) and (v)
Options:

61547516273 1
E1547516274. 2
Bl547518275 3
Bl547516276. 4

Question Number : 44 Question Id : 6154754173 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) W i SFTETIEAT SATTRA HETS S0 A9 AT qEE O
) o, sl qa g % e

(iii) HIF oaa Ui F HadA W

(iv) = AT §iea W

(v) HSAIHS TIh H U] 24 7g SEEF TH IH FE T

s faFeT 8§ o 391 =1 =99 Fifao

1) Q). () 3R ) (2) (). (i) R @(iv)
(3) (i), (iv) 3T (v) 4) (). (iv) 37 (v)
Options:

61547516273 1
61547516274 2
61547516275 2
E1547516276. 4

Question Number : 45 Question Id : 6154754174 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify values specially related to organmizational ethos from the list given below :

(1) Team work in the approach

(11) Productivity of the tasks

(1) Changes 1n the global contents

(iv)  Finanecial security

(V) Humility in dealing with others’ concerns

(vi)  Technological resources

Choose your answer from the following options :

(1) (1). (111) and (v1)
(2) (1), (1v) and (v)

P 5% P oins SR it PRI, [N L
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Questl%n Number : 45 Question Id : 6154754174 Question Type: MCQ Option Shuffling : No Display Questic'melppe
Single Line Question Option : No Option Orientation : Vertical our

Correct Marks: 2 WrongMarks: 0
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W= &t T g A # faem =9 9 geaens e (3uTE) ® meiad geat 1 g5ee Fiiew

(1) I | Ag-a

(i) T = IEEEA]

(i)  =fTaw HvE-—gm | 950

(iv)  Ta=m g@een

(v) = i faaet & ome | faama faam

(vi)  TiEfTE wEeE

T=tengd 9T 5 | 39 %1 994 90 ;

(1) (D). (i) 7 (vi)
(2) (), @v) 3T (v)
(3)  (i1), (iid) 37 @iv)
@) (). () 3T (v)

Options:

61547516277 1
61547516278 2
61547516273 2
61547516280, 4

Sub-Section Number: 4
Sub-Section Id: 615475188
Question Shuffling Allowed : Yes

Question Id : 6154754175 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensio
Questions: No

Question Numbers: (46 to 50)
Cnaesticn Label | Comprehension
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Eead the passage carefully and answer gquestions from 46-50.

The pre-first world war era 1s really in a way well suited for an in-depth evaluatior
popular movements., as they were spontaneous and no more than. marginally affe
intelligentsia 1deologies. objectives or technigues. The limitations of such spontaneity
fairly clear. Popular movements were directed usually against the immediate Inc
oppressor rather than the distant white superior. and so were often not consciously
subjectively anti-imperialist. They tended to be fairly widely scattered in both space
time, and were extremely volatile with different social forms of articulation interpenetra
and passing over each other with bewildering ease. All this makes 1t rather difficult to acs
without some gualification the concept of Peasant Nationalism’ as a coherent alternativ
elite patriotic 1declogies and movements, popular imitiative and autonomy were undoub
even remarkable at times. but. unlike middle class nationalism which does have cer
continuity. at the level of 1declogy at least, from the formulation of the drain of wealth the
in the 1870=s onwards, the movement that have been considered were clearly fragmented.
despite such limitations and crudities. popular unrest did anticipate much of middle ¢

nationalism in terms of 1ssues and forms of strugele. while its specific gains were at tu
not inconsiderable. Forest rights., the burdens of rent. usury and land revenue. plan
exploitation and labour grievances were all themes taken over by middle class national

later.

<ib Arnliecstione
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What does the analysis of pre-first world war popular movements reveal?

(1) Intelligentsia’s influence on popular movement was less
(2) The movements were 1deological
(3) The movements had clear objectives

(4) Limited spontaneity
Options:
615475162811
61547516282 2
615475162583 3
1547516254 4

Question Number : 47 Question Id : 6154754177 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The popular movements were

(1) against imperalists (2) against their masters
(3) conscilously violent (4) time bound
Options:

61547516285, 1
E1547516286. 2
Bl24751B287. 3
B15475162858. 4

Question Number : 48 Question Id : 6154754178 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to the passage. the 1ssue with peasant nationalism was

(1) a viable alternative to elite nationalism
(2) coherence and control

(3) lack of continuity

(4) quite timely
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(1) uniform social form (2) 1nsignificant value
(3) middle class nationalism (4) specific gain at times
Options:

61547516253, 1
615475162394 =
61547516235 2
Bl5475168256. 4

Question Number : 50 Question Id : 6154754180 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the author’s assessment of the popular movements?

(1) Some of the popular 1ssues were taken over by middle class nationalism
(2) It was bewildering and amusing
(3) It was remarkable and time-tested
(4) Pre-war popular unrest was anti-imperialist
Options:

B15475162397. 1
615475162598, 2
61547516253 3
51547516300, 4

Question Id : 6154754175 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior
Questions: No

Question Numbers: (46 to 50)
Cuestion Label - Comprehension
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T2 TES W, TE AV THNEE TS, FERTWA, Ty a1 awAw ¥ A F A A v wws

HATE T T2 7| ST A qohei 9 Sl F 9wg wiad 9 71 T 75y 99 90
it gEfAT 77 A THGEE A1 ACH-TY Y H -mEaEnl 98 4| 9% = 6w g5 6o
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Sub questions

Question Number : 46 Question Id : 6154754176 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1)  STE ATEeH T Tagal 1 T9E FF o7
(2)  EEH FEE 9
(3) oS % w9E 52 9

(4) HiHg FE=an
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ST =

() T g . -
(3) e (4) THg-mg 9
Options:

B1547516285. 1
61547516286, 2
61547516287, 3
615475162858, 4

Question Number : 48 Question Id : 6154754178 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

SwdE o ATEN FIE TS gal gaEr # 9n 7

(D) 9 Ty W O A fae (&5 s <k R
(3)  frawar Fi = VAT —
Options:

615475162583, 1
61547516230, 2
B1l54751682391. 3
B15475162392. 4

Question Number : 49 Question Id : 6154754179 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tg-Td AFRLE AR 9,

(1) =% 3" AHEIaS &9 (2) T4 T
(3) A=W FE TEER (4) THE F9F W fafEE =

Ontione *
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(1) T 0/E g T T5ET T TgaE gR S =1y e o
(2) 7 T A FHEeE 9

(3) 7 fafore =R wmm & wEE W o 9|
(d)  Tg W TEd WET HEA W-HHrSEEE) 9

Options:

61547516297 1
61547516298 2
615475162993 2
615475163200 4
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Question Number : 51 Question Id : 6154754181 Question Type: MCQ Option Shuffling: No Display Question Number : Ye

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange 1n chronological order the following economists in relation to their contribution
the Theorv of Consumer Behaviour. Choose the correct answer :

(1) A. Marshall. R. Stone. P. Samuelson. J.R. Hicks and R.G.D. Allen
(2) R. Stone. P. Samuelson, J.R. Hicks and R.G.D. Allen and A. Marshall
(3) P. Samuelson. J.R. Hicks and R.G.D. Allen. R. Stone. and A. Marshall
i4) A. Marshall. J.R. Hicks. R.G.D. Allen. P. Samuelson and R. Stone

o~ ac
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Fifa0| Tar I F FEw

(1)  © Aeie, wE. 2E, 0. Seee, SAn, B aa A E e
(2) AN =M, 9, B=eE, 9.9, B 9w RS veA, U, 9
(3) . dorews, w3 fEeE A AW S, ueE, S T2E, U 91

(4) U, I, W TR A LS, ued, i degeEE, Sn. e

Options:

61547516301, 1
61547516302 2
61547516303 2
61547516304 4

Question Number : 52 Question Id : 6154754182 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Among normal cost curves which one of the following curve does not have a minimum po

(1) Average cost (2) Marginal cost
(3) Average variable cost (4)  Average fixed cost
Options:

51547516305 1
El5475168506. 2
B1547516507. 3
51547516508, 4

Question Number : 52 Question Id : 6154754182 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T @ 561 B a9 8 T 9% 0 =g W T8 6 ¢

(1)  3ft=a = (2) HmE ArE
(3)  #Ed = @ (4) =rgd for @ rE
Options:

61547516305, 1
61547516306, 2
B1547516507. 3
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The ‘Compensation Criterion’ which savs that state A 1s socially preferable!t!l ERPE
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those who gain from the change can compensate the loosers and vet end up with surg
welfare gain 1s attributed to :

(1) W. Pareto (2) N. Kaldor
(3) T. Scitovsky (4) Bergson
Options:

B1547516203. 1
61547516510, 2
51547516511, 2
515475163512 4

Question Number : 53 Question Id : 6154754183 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘et Amevs’ i A w2 o feafa © (A) Fmer w F e i @) 7 ot 2 e
T A9 U AT £ e B 38 T i Afayid W g 2 11 R 9 38 afiem sfemm @y w5

(1)  Seeg 9 (2) T FETH
(3) . dHigaeh (4) T
Options:

51547516203, 1
61547516310 2
515475163511, 2
B1547516512. 4

Question Number : 54 Question Id : 6154754184 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In which of the following products. problem of adverse selection 1s encountered?

(1) Market of Insurance (2) Market for Credit
(3) Neither (1) nor (2) (4) Both (1) and (2)
Options:

61547516513 1
515475163514 =
B1547516515 3
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fefertiga 3earel § ° | 3e0re | ufaser =99 1 Ha o e B 'repp
(1) =" =1 99w (2) iz =1 =R
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Options:

51547516513 1
615475163514 =
515475163515 3
Blz47516516. 4

Question Number : 55 Question Id : 6154754185 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Given the saving function S =-20+0.2Y and autonomous investment (I) = Rs. 100 mal

the equilibrium level of consumption would be :

(1) 500 (2) 600
(3) 400 (4) 700
Options:

51547516317, 1
B154751E518. 2
£1547516513. 3
61547516520, 4

Question Number : 55 Question Id : 6154754185 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-

fau 710 o= Fe S =—20+0.2 Y 3t w=Ea FEw (D) = %.100 fafemm & 7 21 uge F1 aeaee

o

FL
(1) 200 (2) 600
(3) 400 (4) 700
Options:

61547516517, 1
5154751635158 2
15475183149 =
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For which of the following consumption function. the value of the income mul’;ﬁgpp:

Your Personal Exams Guide

(1) C=100+%.8Y 2y GC=80+.8Y¥%
(3) C=200+.70Y (4) C=50+4Y
Options:

B1547516521. 1
61547516522 2
61547516323 3
515475163524 4

Question Number : 56 Question Id : 6154754186 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

faefefad 399m we@ 0 319 70 1 gea K= 47 207

(1) C=100+ .5Y (Z2) C=H0+28Y
(3) C=200+.75Y 4 C=b0+4Y
Options:

51547516321, 1
Bl5475168322. 2
B1547516523. 3
61547516524 4

Question Number : 57 Question Id : 6154754187 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The inventory approach to the transaction demand suggests that the transaction compo
of the demand for money is :

(1) negatively related to real wealth

(2) negatively related to real income

(3) negatively related to nominal income
(4) negatively related to interest rate
Options:

61547516325 1
E1547516326. 2
Bl2475168527. 3
51547516328 4
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-3 7 % o e () e mmm R i e s m-m ez PYEPP
(1)  =oreS &9 ° avdias geq ° Heied 7|

(2)  TEOTHE EY H At o H geiad 2

(3) FUENE =9 § OifeF 379 ° gEiad 2

(4)  FOTCHF =9 H =TS 2§ gEiad 7

Options:

61547516325 1
61547516326 2
61547516327 2
1547516328 4

Question Number : 58 Question Id : 6154754188 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Friedman's modern Quantity Theory of Money concludes that changes in aggregate spend:
are primarily determined by changes 1n

(1) the money supply (2) 1nterest rate
(3) the velocity of money (4) government spending and taxes
Options:

61547516523, 1
61547516520 2
61547516321, 2
51547516332 4

Question Number : 58 Question Id : 6154754188 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FI=07 F gg1 F SR uEm g @ e e @ % amn == 1 afmd = fan et
gftga g1 o =i 2

(L)  HE g (2 ===
(3) = AT A (4) TTRE =T q9T HH
Options:

51547516329, 1
Blz47516520. 2
B1547516521. 2
61547516532, 4
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For an exactly identified equation. the order condition that should be f't&]!iﬁpjpt
Equatiﬂn ]_]'_'Lust x Your Personal Exams Guide

(1) Exclude one less than the total number of endogenous variables in the model
(2) Include one less than the total number of endogenous variables in the model
(3) Include only one of the endogenous variables in the model
(4) Exclude two or more endogenous variables

Options:

51547516533, 1
61547516534 Z
51547516335 3
515475168536, 4

Question Number : 59 Question Id : 6154754189 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FEH: T T THEAY & 0 I #1 SHaTe Y I 98 ¢ [ O sEvas =9 1

(1)  ®ise § sTasid =0 =i Fed T =i gl 3 U= FH i AEH T
(2)  Wise | AT 94 w1 Hel T ] gEl § UF FH Bl G |
(3)  TisA H %hae UH AdAE =T AEA B

(4) = A AT S = e 1

Options:

61547516333, 1

61547516334 2

B1547516535. 3
B1547516536. 4

Question Number : 60 Question Id : 6154754190 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Analysis of variance 1s carried out by using :

(1) ! —test (2) Z —test
(3)  p°—test (4) F—test
Options:

51547516337, 1
B15475168538. 2
B1547516523. 3
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(1) t — e (252) @2 Z e (3=)
(3) x T (3) (4) F-wazm (2%=2)
Options:

51547516337, 1
515475168538, 2
B1547516523. 3
61547516540, 4

Question Number : 61 Question Id : 6154754191 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Under Normal Probability Curve, the area within the range of 4 — 1.96 ¢ and x+1.¢

(where i = mean. o = standard deviation) is :

(1) 90% (2) 95%
(3) 75% (4) 99%
Options:

515475163541, 1
Bl5475168342. 2
B15475163543. 3
61547516544 4

Question Number : 61 Question Id : 6154754191 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A Tl 9% 8 4 — 1.96 ¢ 31T 4 +1.96 ¢ 1 &5 (T y = AT A0 o = AFF fa=em
% e &= Fra 2

(1) 90 wiowE (2) 95 ufde
(3) 75 Tfa=ra (4) 99 TiauE
Options:

51547516541, 1
61547516342 2
51547516343 3
Bl547516544. 4
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Boot strapping technique 1s used to : 'repp
(1) test for specification bias

(2) obtain sampling distribution of parameters of interest

(3) test for auto-correlation

(4) test for normality of error term
Options:

61547516545 1
61547516546, 2
61547516347, 2
51547516345, 4

Question Number : 62 Question Id : 6154754192 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

R b

;? FF‘K T ,:' .-I:J:“EFI q.-Tl' .-f: J;F 'Ipﬁ'r{l: 3 :E-LI T I'-:lu- \F.IEI W % :

1) Ffrmm-gE & e o

(2) =% Y= F AEIUEST F UfaEEA HE F U o
(3) TE-HEIE F T * fou

(4) I 92 F TS * e e

Options:

61547516345 1
61547516346 2
61547516347 2
61547516348 4

Question Number : 63 Question Id : 6154754193 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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| B8 3k A |
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(1) ? (2)
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0 0 0 1 0 0O D5
0.5 0 0 0.5 0 g 0
0 0.25 0 0 8256 0 0O
(3) (4)
0 0 0.2 0 0 0 1 0
0 0 g 1 0 0 0 04
Options:

B1l547516549. 1
B1547516550. 2
61547516551, 3
61547516552, 4

Question Number : 63 Question Id : 6154754193 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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- 0 4 0 0 g i
Az N T faeT 2
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1547516352 4
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Question Number : 64 Question Id : 6154754194 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Harrod's growth model is given as under

S5, =a, 0<ax<l
I, =by,-Y,;,] b>0
Sp= I

In this model. growth condition 1s

(1) —>0 (2)

(3) > () (4) <

Options:

61547516353 1
61547516354 2
61547516355 2
61547516356 4

Question Number : 64 Question Id : 6154754194 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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=gl O<a<l
I, =bY,-Y,] b>0
. i

b b
1) > () 24 <D
: (b—a) ¢ (b—a)
et ]
3 =0 4 <0
(3) 2 (4) L (3
Options:

B1547516553. 1
61547516554 2
61547516555 3
51547516356, 4

Question Number : 65 Question Id : 6154754195 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

. ; ; 1 $ 5
The total cost function of a firm 1is C:Eqs—Sq‘+DGq+300 where C = total

g = output. Marginal cost at g =10 1s :

(1) 20 (2) 10
(3) 30 (4) 50
Options:

61547516557, 1
61547516358, 2
51547516353 3
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C’=% ® _3g" +50qg +300

o € =%« =4, g =4

g = 10 T H\ra = #1075

(1) 20 (2) 10
(3) 30 (4) 50
Options:

61547516557, 1
61547516358, 2
51547516353 2
51547516360, 4

Question Number : 66 Question Id : 6154754196 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
For a Cobb-Douglas production function @ =100 I%"K%* Which of the following i= not tz

(1) It 1s Linear Homogenous function

(2) It 1s characterized by constant returns to scale

(3) It 1z having zero elasticity of factor substitution
(4) It 1z characterized by unit elasticity of substitution
Options:

61547516361, 1
E1547516362. 2
B15475168563. 3
Bl547516564. 4

Question Number : 66 Question Id : 6154754196 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FA-STAH 3c9127 Fod & fow, @ =100 LK™ = & A FAfafiga o & =937 F99 T8 781 7
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61547516362 2 prepp

61547516563, 3 Personal Exams Guide
61547516564 4

Question Number : 67 Question Id : 6154754197 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If in a given situation, P. =170, P, =190 and Z, =152. then which of the following wil

the value of Single Factoral Terms of Trade (T%) :

(1) 136 (2) 148
i(3) 54 (4) 116
Options:

51547516565, 1
61547516366, 2
61547516367, 2
E154751E568. 4

Question Number : 67 Question Id : 6154754197 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
afz & ¢ wk uffeafa 4 P, =170, B, =190 3t Z, =152 2 &1 =amm H1 vkl Fehi a6 1 3
(T:) F=ateTiiga 5 & ==1 207

(1) 136 (2) 148
(3) 84 (4) 116
Options:

B1547516565. 1
61547516566, 2
61547516567, 3
6154751635658, 4

Question Number : 68 Question Id : 6154754198 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which trade policy results in the government levving both a specific tariff and an advala
tariff on imported goods?

(1) Effective tariff (2) Revenue tariff
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Correct Marks: 2 WrongMarks: 0 frepp

ffetad ¥ 5 60 =r ifd = TR TR gRT ST e WO A T S e aide

TSR ST ST % B H WEA #

(1) == T (2) T W
(3) =i e (4) =i T e (A 2m)
Options:

61547516363, 1
E1547516370. 2
512475168571, 3
61547516572, 4

Question Number : 69 Question Id : 6154754199 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Heckscher-Ohlin trade model maintains that :

(1) Comparative advantage determines the diztribution of the gains from trade
(2) A country exports goods for which its resource endowments are most sumited
(3) Absolute Advantage Theorv determunes the distribution of the gains from trade
(4) The division of labour 1s limited by the size of the world market
Options:

615475165373, 1
E1547516574. 2
Bl5475168575. 3
B1547516576. 4

Question Number : 69 Question Id : 6154754199 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T - TRl =TT 515 1 F41 01T #

(1)  JoATCHT @9 SR &% GA% 1 o i #a 2

(2) =@ 3 TG T FAME Tl 7, T [0 30 GHEH - SUesyal Fands 39999 5

(3)  Tame =y = fug (USHITgE Usares A ) SR | Yt G 6 faarer Faiie e 2

(4)  fava 990 F TR g 99 F TaaTe Oifma w2 e
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A tax of Rs. 20 per unit of imported cheese would be an example of a/an : 'repmp
(1) Compound tariff (2) Specific tarff

(3) Effective tariff (4) Advalorem tarff

Options:

B1547516577. 1
61547516578, 2
61547516573 3
61547516380, 4

Question Number : 70 Question Id : 6154754200 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
AT T = UTd $9%T5 T 20 FUU ) W RO 32 R

(L = e @ fafr= T
(3) WY TEeE (4) TSAEEA TEF
Options:

Blz47516377. 1
Bl547516578. 2
61547516573 3
61547516380, 4

Question Number : 71 Question Id : 6154754201 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following 1s an example of a positive externality?

(1) Public immunizations

(2) Increase of corporate taxes

(3) Issuing extra permits for pollutions

(4) Monitoring the hazards caused by industries
Options:

51547516581, 1
61547516582, 2
61547516383 2
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(1)  HEsf Ao @) i A
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Options:

61547516381 1
61547516382 2
61547516383 2
61547516384 4

Question Number : 72 Question Id : 6154754202 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which amongst the following market form leads to most efficient allocation of resources

(1) Monopolhistic Competition (2) Monopoly
(3) Oligopoly (4) Perfect Competition
Options:

51547516385, 1
B154751E386. 2
B1547516587. 3
515475165858, 4

Question Number : 72 Question Id : 6154754202 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Fr=ferfign =T e o o aaiias F9e greE ST 2 B

(1) U= gaamT
(2) TERTTERTL

(3) TATEFR

[ Y

(4) Ui
Options:
1547516385 1
61547516356 2
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Incidence of tax refers to : rrepmp
(1) Whether a tax 1s progressive. proportional or regressive

(2) An authority which collects the tax

(3) The person or group who ultimately pays the tax

(4) How a tax 1s collected?

Options:

61547516383, 1
51547516330, 2
5154751685391, 3
B15475165392. 4

Question Number : 73 Question Id : 6154754203 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T % T THE HEAT ©

(1) = Wi, Artas e e E

(2) L HUE FH T AIEE

(3)  3TA: F 2 AN A AYE] AR

(4) w1 8 T TuE R e

Options:

61547516389 1
61547516390 2
1547516291 2
61547516392 4

Question Number : 74 Question Id : 6154754204 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Displacement effect’ in the Peacock-Wiseman Hypothesis implies :

(1) An upward displacement of public expenditure according to higher economic growtl

(2) The movement from older level of public expenditure and taxation to a newer a
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61547516395, 3 prepp

61547516556, 4 Personal Exams Guide

Question Number : 74 Question Id : 6154754204 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TR —areaiy THFeT | e g9 § 9 e 2

(1)  F=IR 91119 Iig  ATEN G0 =79 H1 S faes

(2)  FEAF =99 U9 FOUH F [H W1 ATTE A0 U T T I AR g

(3)  TEwHE =9 R = W Sedl & 991 IEa T W TRadl 7

(4)  TEE g AETF TF G0 FEFAT B Fd E A9 TECC TEAE o9 ddd 3 S &=
Options:
E1547E1EZ249= 1
E1E47E1EE94 2
E1547E1E595 2
51547516596 4

Question Number : 75 Question Id : 6154754205 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 1s correct for the money supply measure — Mi?

(1) Currency with the public + demand deposits of Commercial Banks + other deposits

a point of time

(2) Currency with the public + demand deposits of Banks + other deposits over one vea

(3) Currency with the public + All bank deposits at a point of time

(4) Currency with the public + Post office deposits + other deposits at a point of tume
Options:

615475163397, 1
6154751633958, 2
B15475165599. 3
51547516400, 4
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(1) Tt Fifvsa om0 S = o gg1 + anfvitsae d=61 61 a0 56 + w1 S\
(2)  UF ad ® ATTE THF § AN F UH gg7 + 961 6 96 T8+ 59 T
(3) TRl FfT=m wmg o AT o O = + F@ s o S (S T

(4) T fAfv=a 999 w =00 % 9 921 + 9 AEE ST + A S

Options:

61547516397 1
61547516398 2
61547516299 2
61547516400 4

Question Number : 76 Question Id : 6154754206 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which amongst the following 1s not the source of the income of RBI?

(1) Interest on government bonds held for conducting open market operations
(2) Income from Investment in foreign currency assets
(3) Retained earnings net of dividend paid to Government of India

(4) Dividend on the shares of private equity held with the bank

Options:

1547516401, 1
61547516402 2
61547516402 2
61547516404 4

Question Number : 76 Question Id : 6154754206 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
frATeArEd | H F -5 U qUaE Td 99 (A1 =@ A ) AT F Fd A7

= -

e

.|

(1) o 979K fFamhemal # fou a7fia JRl a8 ™ =

(2 ol gz ofmafi 4 FEw = am | w99t
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Question Number : 77 Question Id : 6154754207 Question Type: MCQ Option Shuffling: No Display QuesticrNemiyer s e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Insolvency and bankruptcy code 1s primarily entrusted with which of the following?

(1) Facilitating the recovery of government dues and debt

(2) Facilitating recovery of debt given by foreign banks to Indian companies

(3) Facilitating banks recover higher amount of bad loans then they recovered earlie
(4) Facilitating banks recover their dues from the priority sector

Options:

51547516405 1
61547516406, 2
51547516407, 3
51547516408, 4

Question Number : 77 Question Id : 6154754207 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
faaren va feafma (SA=n At/ saead] a9 S9! i) F FefatEg 3 3 3ega: 6 =1 e

I | e
e

(1)  =EHE 341 qu1 o F1 TG F T S

(2)  faesit &1 g 9w FEaiE # 2 T e i FEEt O s

(3) S T TRt et U UG FOU i TET H AT T GGH § AT i GEEar BT

(4)  mafEE A A9 T AT S R S e s e e

Options:
61547516405 1

B1547516406. 2
61547516407, 3
51547516408, 4

Question Number : 78 Question Id : 6154754208 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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51547516411, 3
61547516412 4

Question Number : 78 Question Id : 6154754208 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A AT i AR 7 ° Frrge Bt # at fefataa 9 8@ = oame

(1) o9 T (A=) Yo a9 99 T (F0s) Wiawd 341§ ghg wni

(2) =9 (3) 903 797 99 7 (W0 Tiawd 2 5 e we

(3) wu A (913) g9 97 3 99 T (W5) Tiiwa 3 e 2

(4)  =u v (W73) gea ¥ e =00 9w 5y 9= (973 wiawe @ ghg w5

Options:

61547516409 1
61547516410 2
61547516411 2
61547516412 4

Question Number : 79 Question Id : 6154754209 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The elasticity of substitution (&) of the production function which admits of both Hicks

Harrod neutral technical progress would be :

(1) ag=10 2y a=1
(3 . =D 4) O<oc<l
Options:

51547516413 1
51547516414 =
51547516415 3
Bl54r75164d16. 4

Question Number : 79 Question Id : 6154754209 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical
Coarrect Marke: 2 \Wrona Marke: N
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Question Number : 80 Question Id : 6154754210 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In which of the following models ‘knife-edge’ problem occur?

(1) Kaldor (2) Solow
(3) Harrod (4) Swan
Options:

51547516417, 1
615475164158 =
51547516413 =
51247516420 4

Question Number : 80 Question Id : 6154754210 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
frfafigs 9 @ -9 qisa 0 IEE-Us 9HET 3099 B 7

(1)  F== (2) Hre
(3) =Us (4) =
Options:

B1547516417. 1
615475164158 2
51547516413 3
61547516420 4

Question Number : 81 Question Id : 6154754211 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Consider an economy with a linear homogeneous Cobb-Douglas production function
two inputs-capital and labour. The share of capital and labour are. respectively. 1/3 and
The rates of growth of capital and labour are. respectively 6% and 3% per annum. If the ;
of growth of output 1s 6% per annum, what 1s the rate of growth of output due to T
Factor Productivity (TFP)?

(1) 1% 2y 2%



www.prepp.in

Correct Marks: 2 WrongMarks: 0 'repp
A= | 3 ﬂwr—n—q"’—sﬁ TUT 49 Ofed FE—Ted 309129 % O06Y @0 Fod W f99n —ﬁ"’ﬁ‘?’“ﬁﬁﬁr

=1 T e 1/3 79 2/3 21 55 wwn am i aww @ wmEe: 6% 37 3% Wiead 7| Aty e
= 6% TfaaT 2 91 22a T WSt (21 v ) % Fwer e i gfg | = wei e

O 1% @ 2%
(3 3% (4) 4%
Options:

51547516421, 1
61547516422 2
61547516423 2
51547516424 4

Question Number : 82 Question Id : 6154754212 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who 1= the author of the book ‘Freedom as Development™

(1) Gunnar Myrdal (2) F.A. Von Havek
(3) Amartyva Sen (4)  Paul A. Samuelson
Options:

51547516425 1
61547516426 =
E1547516427. 3
51247516425, 4

Question Number : 82 Question Id : 6154754212 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

1= U7 feamvde T F1 o@® B 2 7

1) T e (2) TUE. U, T ETF
(3) = \ed A (4) 9 U, HEeEA
Options:

51547516425 1
61547516426 =
E1547516427. 3
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Question Number : 83 Question Id : 6154754213 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Crafafad § 9§ FH-91 320 AER Aawedr # T8 27

(1) TR (2) wEEEA g
(3)  HiTel i THa=waT (SHHAMIS 3% Thel) (4)  wEIn

Options:

6515475164293 1
E1547516420 2
61547516421 2
61547516422 4

Question Number : 84 Question Id : 6154754214 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Whaich of the following 1= not a feature of the contingent valuation method?

(1) It 1s an economic non-market based valuation method

(2) It 1s bazed on the maximum willingness to pay by the consumers
(3) It 15 used only in case of awr pollution

(4) It 1s used under the condition of market failure

Options:

51547516433, 1
61547516434 =
51547516435 =3
Blz475164d36. 4

Question Number : 84 Question Id : 6154754214 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

5

frefeafian 5 | FEt TEiTs goara e =i faeemr 5 2 7
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Question Number : 85 Question Id : 6154754215 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The phenomenon of "demographic dividend’ 1s related to which of the following?

(1) An increase 1n the sex ratio

(2) An increase 1n the share of female population

(3) A decline 1n the TFR

(4) An increase 1n the share of working age population
Options:

1547516437 1

6154751643258 2

B1547516423. 3
51547516440, 4

Question Number : 85 Question Id : 6154754215 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
SRR T i Tl freatehaa § § e getim 27

(1)  form | afs (2) wiFeT SEE & o 1 9l
(3) PR | Frae (4) FEE @G F e F T 9 g
Options:

61547516437, 1
51547516435 2
Blz47516423. 3
B1547516440. 4

Question Number : 86 Question Id : 6154754216 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Who among the following 1= not associated with the Optimum Theory of Population?

(1) T.E. Malthus (2) H. Dalton
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Correct Marks: 2 WrongMarks: 0 'repp
Caf f B 8 g camer G ornam B s a8 2 o
(1) 21310, 9 (2) TUH. BT
(3) = FH (4) FR H=d

Options:

B1547516441. 1
Bl54r5164d442 2
51547516443 3
51547516444 4

Question Number : 87 Question Id : 6154754217 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which amongst the following 1s the funection of SEBI?

(1) Regulation of money market

(2) Regulation of public debt

(3) Regulation of commeodity market
(4) Regulation of primary and secondary security market
Options:

51547516445 1
Bl54751644E. 2
Bl547516447. 3
51547516445, 4

Question Number : 87 Question Id : 6154754217 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Feft 1 Freferfiam & & i w27

(1) g1 w1 & (2) HENF T H e
(8) = WIAN N {EE (4) Ut Hi fgdmEe wiagia s = Ak
Options:

61547516445 1

E154751644E. 2
C1CATCEIEAAT =
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Finance Commission?

(1) 279 (2) 280
(3) 281 (4) 282
Options:

B1l547516443. 1
£1547516450. 2
51547516451, 3
61547516452, 4

Question Number : 88 Question Id : 6154754218 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1) 279 (2) 280
(3) 281 (4) 282
Options:

51547516443 1
61547516450, 2
51547516451, 2
51547516452 4

Question Number : 89 Question Id : 6154754219 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify the method not being used for unemployment estimation by the NSSO of India

(1) Current monthly status (2) Current daily Status
(3) Current weekly status (4) Usual principal and subsidiary stat
Options:

£1547516453. 1
61547516454 2
61547516455 3
51547516456, 4

Question Number : 89 Question Id : 6154754219 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
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Question Number : 90 Question Id : 6154754220 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following statements 1s not correct for the textile sector in India?

(1) India’s textile and clothing sector currently emplovs 35 million people
(2) After agriculture. 1t 1= second largest provider of employvment

(3) Textile sector has a tendency to shrink as the GDP and economy grow
(4) Textile sector 1s a major absorber of low skilled labour

Options:

61547516457, 1
51547516458, =
B1547516453. 3
B15475164E60. 4

Question Number : 90 Question Id : 6154754220 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
(efeiiad § § HI96 YA A H 2F82se &5 = 51 0 98l T8 7 7

(1)  9Wd = JFEIsd R FAlfET (Taman) SFet °§ aaaE 9 35 fufegm safwat =t tsmm am 2
(2) =7 FY = 512 T FEE §1 ATTR-TSET 2

(3)  SELd. @i srdemaen § 9fg B W 2HmeEe H9 ° HEed i T 2

(4)  ZFEITES & e i el JTHR U UHE SHEE (Ussiet) B

Options:

15475164571

1547516458 2

51547516453 =
51247516460, 4

Question Number : 91 Question Id : 6154754221 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WronaMarks: O
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Choosze the correct option for which the allocation of inputs 12 technically efflclg),g"' pp

gonal Exams Guide

(a) Output of one good can not be decreased without increasing the output of the o
zood
(b) Consumption of one good can not be increased without decreasing the consumptic

another good

{c) Consumer attains maximum satisfaction
Options :

(1) (b) only

(2) {(a) only

(3) Both (a) and (¢)

(4) Both (b) and (¢)

Options:

61547516461, 1
61547516462 2
61547516463 2
61547516464 4

Question Number : 91 Question Id : 6154754221 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
30 At fawen i e Fifsw, e e awme =1 wEea a6 =9 ° F59 7

(a) TF O & FIG H FH 9 9 F T 9 g B S TE e

(b) T W T UG T gig I A F STUF F FHHI 0 T 6 A A wed

()  ZuurH HAfasad TP U HAT 2

ICET I
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51547516461, 1
61547516462 Z
51547516463 3
Blz475164dE4. 4

Personal Exams Guide

Question Number : 92 Question Id : 6154754222 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Congsider the following statements :

(I) Preferring of a certain income to a risky income with the same level of expected v

lead to a sk averse behaviour

(IT) Being indifferent between a certain income and uncertain income with the same ]

of expected value leads to risk averse behaviour

Which of the above statement 1s/are true? Choose the correct option given below :

(1) Eoth (I) and (II) are true
(2) Neither (I) nor (II) 1s true
(3) Only (I) 1= true

(4) Only (II) 1s true
Options:

1547516485 1
61547516466 2
61547516467 3
61547516468 4

Question Number : 92 Question Id : 6154754222 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(@)  FiEEge @@ F g 9 e go9 % FAE T @ HivEd A9 F @i o WA
ferqa ==En =1 Al e w2

(I) T §ed =+ B & & @19 Hivgd @3 @ A1ffvag 9" + &9 920y 26 WS-

=TaER F1 A1 T EA 2

T § ¥ A HF HA A ¢ TRl faweT 9

1) (@) @R JD 34 =8 7
(2 A@ (@ s AE IDEE 7
(3) e (D) @4 &

(4)  Fae (ID =& 7

Options:

61547516465 1
61547516466 2
61547516467 2
61547516468 4

Question Number : 93 Question Id : 6154754223 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Autonomous investment could be attributed to :

(a) Level of technology
(b) Expectation

(c) Level of national income

Choose the correct option :
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Question Number : 93 Question Id : 6154754223 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

= FEaY =l qd 'F" :

(a)  TrEnfTER =

(b) ek
(c) A -

(1) e ta}aﬁim}
(2)  =aEd (b) 3K (¢)
(3) =& (a) 31K (b)

(4)  (a). (b) T (c)
Options:
61547516469 1
61547516470, 2
61547516471, 3
61547516472 4

Question Number : 94 Question Id : 6154754224 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Under which of the following approaches Phillips Curve Analvsis holds gcodngrepp

ersonal Exams Guide

(a) Adaptive expectation

(h) Rational expectation

Choose the correct option :

(1) Only (a)
(2) Only (b)
(3) Both (a) and (b)

(4) Neither (a) nor (b)

Options:

61547516473 1
61547516474 2
61547516475 2
61547516476 4

Question Number : 94 Question Id : 6154754224 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

faefefaa ot § 3 Fm sarm § e o e a8 saar &

(a)  TIHe T

(h) EJ_% Het=h IodTET
TE ey =

(1)  =a= (a)
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Question Number : 95 Question Id : 6154754225 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Three statement are given as under :

(a) Generalized Least Square (GLS) method iz capable of providing BLUE 1n situat
where OLS fails

(b) GLS 1z OLS on the transformed variables that satisfy the standard least squ

assumptions

(c) GLS method 1s suitable for dealing with multicollinearity problem

Choose the correct option :

(1) (a) and (b) are correct but (c) 1s not correct
(2) (a) and (c) are correct but (b) 1s not correct
(3) (a) 12 correct but (b) and (¢) are not correct
(4) (a) 1s not correct but (b) and (¢) are correct
Options:

61547516477, 1
61547516478, 2
Bl547516473 3
B1547516480. 4

Question Number : 95 Question Id : 6154754225 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) TISHTS Wi ThaEd (S ue vh) uligid wE o0 uel uH aee v 39 i 0 s (i w
é} AR I Ld | 31%’\51 q 1:[ & r':E.F':'. | _Ftl

(b) 1 UH TE TREfid W W A UF U R A TES S ThaTE fl TFer F A FA E

(c) =it v= vm uigl AedimicAaiet i TaEn & FaraE * o 0T 7

(1)  (a) 391 (b) W@ = 31 (c) T&l 77l =
(2)  (a) 997 (c) Tal & S (b) Tl T7i 7
(3)  (a)@w & T (b) 741 () HAI A =

(4)  (a) T 7 = (b) 7Y (c) TH 7

Options:

615475164771
61547516478 2
61547516473 2
61547516480 4

Question Number : 96 Question Id : 6154754226 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Which of the following statements are true concerning a triangular or recursiv*s!:mp
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(a) The parameters can he validly estimated using separate applications of OLS to e
equation

(b) The independent variables may be correlated with the error terms in other equatio

(c) An application of two-stage least squares would lead to unbiased but ineffic

parameter estimation

(d) The independent variables may be correlated with the error terms 1n the equatior

which theyv appear as independent variables

Choose the correct option :

(1) (a) and (d) only
(2) (a) and (c) only
(3) (a). (b) and (c) only

(4) (a). (b). (¢} and (d)
Options:
61547516451, 1
61547516482 2
61547516453 3
£15475164d584. 4

Question Number : 96 Question Id : 6154754226 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) e TR A 3OS UH % e S g GUHied w0 O AR e S S B

(b)  TETA =l I T FHIHOT H AT T F A TEEEad HA1 =1 Hhar 2

(€)  Z-T2F TR=Z T F IATAN FHATETA] Trg JFS WIHE AT 1 A7 & 74 7

(d)  T=HAF =0 F FHET ° I o, e 9 = = % 59 8 ueia B 2, F 91y gegetad f

AT Tl 21
H‘FQIT?F-EFEITI

(1) =34 () 791 (d)
(2)  =F (a) 797 ()
(3) A (a). (b) 797 (¢)

(49 (a). (b). (c) 741 (d)

Options:

61547516451, 1
615475164582 2
61547516483 2
61547516454 4

Question Number : 97 Question Id : 6154754227 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Two series are given as under .

G TR R |
(a) b=t uplo w0

2 4 8 16 32

; 1 k 1
(b) 2+-.fi +l+—+—+——+ ... upto =@
J2 2 242

Choose the correct option :
(1) (a) 13 convergent while (b) 18 divergent series
(2) Both (a) and (b) are convergent series
(3) (a) 18 divergent while (b) 1s convergent series
(4) None of (a) and (b) are convergent

Options:

1547516485 1
1547516486 2
61547516487 2
615475164588 4

Question Number : 97 Question Id : 6154754227 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(a) l—l+l—l+i—i+..... w0 O

Z & B M 32

(b) 2+"~f’§+1+i+l+i+.., o0 T

w'E 2 2"-.,."5
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Question Number : 98 Question Id : 6154754228 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In Linear Programming each problem (called primal) has a dual. About dualitv in Lin

Programming following statements are given :

(a) If a Linear Programming problem 1s maximizing type. then its dual 15 minimiz
type

(h) Both primal and dual have same optimum value

(c) Dual of dual of a linear programming problem is primal problem

(d) If maximizing linear programming problem is with “less than” tyvpe constraints.

dual of this problem will have “more than” tyvpe constraints

Choose from the following options :

(1) Only (a) and (b) are correct
(2) Only (¢) and (d) are correct
(3) {(a). (b) and (c) are correct

(4) All (a). (b). (c). (d) are correct

Options:

15475164389 1
61547516490 2
61547516491 2
61547516492 4

Question Number : 98 Question Id : 6154754228 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  Fad (a) 991 (b) TF 7
(2) A (c) 7 (d) FEI B
(3) (a). (b) AT (c) T=1 7

4 (@ (b). (c) 7T (&) Tl #F &
Options:
51547516453, 1
51547516430 2
51547516491 =
51547516452 4

Question Number : 99 Question Id : 6154754229 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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which of the following :

(a) Improving terms of trade
(h) Balance of trade deficits
(c) Price inflation

(d) Constrained economic growth

Choose the correct answer from the codes given below :

(1) {(a). (b) and (c) only
(2) ib}. (c} and (d) only
(3) ic). (d) and (a) only

(4) (a) and (d) only
Options:

515475164592 1
515475164594 2
51547516455 3
61547516436 4

Question Number : 99 Question Id : 6154754229 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(c)  Ho1 I

(d)  HiEa e T

(1)  =ad (a). (b) 797 (c)
(2) A (b). (¢) 79 (d)
(3) 4 (c). (d) 797 (a)

(4)  =aA (a) 7491 (d)

Options:

1547516492 1
61547516494 2
61547516495 2
61547516496 4

Question Number : 100 Question Id : 6154754230 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Consider the following statements :

(a) India’s Trade Policy Review (TPR) 1s carried out every four years

(h) WTO has a mechanism for regular review of the trade policies of member countrs

Which of the statement(s) given above 1s/are correct?
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Question Number : 100 Question Id : 6154754230 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(a)  9Wd I =R G e (F 9 9) I8 91 961 9yEnE S Sl 2

(b)  Ta=F A A F T TEE 59 =R A i g w1 f e 2

IF 7 e e § Y wE- (°) 98 R Y
(1)  Fad (a)

(2) A (b)

(3)  (a) @@ (b) I

(4) T (a) 37T T (b)

Options:

615475164497 1
61547516498 2
615475164993 2
61547516500 4

Question Number : 101 Question Id : 6154754231 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

On which date and vear GST became effective in India?

(1) 1=t Aprl, 2017 (2) 1= Januarv. 2017
(3) 1st Julw, 2017 (4) 1=t March. 2018
Options:

51547516501, 1
61547516502, 2
£1547516503. 3
£1547516504. 4
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Question Number : 102 Question Id : 6154754232 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The whole burden of a tax will be borne by the consumer if

(1) The demand for commodity 1s perfectly elastic and supply 1s perfectly inelastic

(2) The elasticity of demand for a commeodity 15 same as the elasticity of supply of
commodity

(3) The demand for a commeodity iz inelastic and supply 1s perfectly elastic

(4) The elasticity of demand for a commodity 1s less than the elasticity of supply of t
commodity

Options:

B1547516505. 1
61547516506, 2
61547516507, 3
51547516508, 4

Question Number : 102 Question Id : 6154754232 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

L B ST ST GRT 984 AT = 2 A

(1) =% =1 977 quiq: =il 921 94 q0d: =i 2

(2) w7 i g i ST aE 2 S ag o T
(3) =% = A S 7 S g qord: e

Options:

61547516505 1
61547516506 2
61547516507 2
61547516508 4

Question Number : 103 Question 1d : 6154754233 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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The elements ziven below are some of the parts of the My Monev supply in Indlrnrgzel&:
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(a) Broad Money (Ms)
(b) All deposits with post office saving banks

(c) National saving certificates

Select the most appropriate option which constitutes My :
(1) only (a) and (b)

(2) only (b) and (c)

(3) only (a) and (c)

(4) (a). (b) and (c)

Options:

61547516509 1
61547516510 2
61547516511 2
61547516512 4

Question Number : 103 Question Id : 6154754233 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

e fou U srEEe yndE sieraERn § weaan: Ma s 5951 % 9 7
{(a) =19 451 (Mas)
(b) ST W S= @I F T S

(c) THE 99 THW 9

Hr= fou e 390 5§ Ma % TE1 w5999 BT

(1) = (a) 73 (b)
(2) = (b) ¥ (o)
(3) A (a) T (c)
(4)  (a). (b) 37 (c)

Options:
61547516509 1
1547516510 =2
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Which among the following are the main pillars of the BASEL III norms? 'repp

(a) Minimal Capital Requirements
(b) Supervisory Review Process
(c) Market Dizcipline

(d) Maximizing Return on Capital

Choose from the options given below :

(1) (a). (h) and (c) only
(2) (a) and (d) only
(3) (b) and (c) only

(4) (b). (c} and (d) only

Options:

61547516513 1
61547516514 2
61547516515 2
61547516516 4

Question Number : 104 Question 1d : 6154754234 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) = (a). (b) 791 (c)
(2) Fae () 997 (d)
(3) === (b) 797 ()

(4) Fae (b). (c) 9947 (d)

Options:

61547516513 1
61547516514 2
1547516515 2
61547516516, 4

Question Number : 105 Question Id : 6154754235 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Kaldor's growth model incorporates some of the following assumptions : 'repp
(a) Total savings include savings out of wages and savings out of profits
(b) Marginal propensity to save out of wages 1z equal to the marginal propensity to

out of profits
(c) QOutput consists of wages and profits

(d) There 1z less than full employment

Choose the correct option :

(1) {a) and (b)
(2) {(b) and (c)
(3) (c) and (d)

(4) (a) and (c)
Options:
51547516517 1
51547516518 2
51547516519 =2
51547516520, 4

Question Number : 105 Question Id : 6154754235 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) T w9l § Hugl § H a=d AR @9 B H s St 7
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(©  Tfa d wwight 3 =y mfefea 7

(d) IO TR F g d FAH T R
el ooy g

(1) (a) #F (b)

(2)  (b) 3 (¢)

3)  (c) AT (d)

(4) ()37 (c)

Options:

61547516517 1
61547516518 2
615475165193 2
61547516520 4

Question Number : 106 Question 1d : 6154754236 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following economists are associated with the ‘Balanced Growth™ doctrine

(a) W.A. Lewis
(b) H.W. Singer
(c) E. Nel=son

(d) Ragnar Nurkse
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Question Number : 106 Question Id : 6154754236 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FeAfetas 9 o F=m Adurst g 9t fbge o gatud 27

(a) 5], T, S
(b) TaE Teg. fow
(c) AW, o5

(d) TEE TEE
(1)  (a) 37 (d)
(2) () FR(d)

(3)  (a) 3T (b)

4 (b) 3 (0)
Options:
51547516521, 1
561547516522 2
E1547516523. 3
51547516524 4

Question Number : 107 Question Id : 6154754237 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Consider the following statements about the social cost-benefit analysis fc! G%QE}
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projects. Which of the following are true for this analysis?

(a) IRR should be greater than Social Discount Rate
(h) NPV should be equal to zero

{c) Shadow prices are used for calculation of benefits and costs

Choose the most appropriate option for those given below :

(1) (a) and (c)
(2) (a) and (b)
(3) (b) and (c)

(4) (a) only

Options:

61547516525 1
61547516526 2
61547516527 2
61547516528 4

Question Number : 107 Question Id : 6154754237 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FATeREg o o FE FU9RE A@died gl g o m@eEied 2 7
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(d) A A4
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Question Number : 108 Question Id : 6154754238 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Consider the following statements about the correct order of the stages of demogra
transition aszoclated with economic development :

(a) Low birth rate with low death rate

(b) High birth rate with high death rate

(c) High birth rate with low death rate

Choose the correct option :

(1) (b). (c). (a)
(2) (c). (b). (a)
(3) (a). (b). (c)

(4) {c). (a). (b)

Options:

1547516529 1
61547516520 2
61547516521 2
61547516532 4

Question Number : 108 Question Id : 6154754238 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1) (b). (e). (@)
(2) (e (b). (&)
@) (@)
4 (o). () ®

Options:

61547516529 1
61547516530 2
61547516531 2
61547516532 4

Question Number : 109 Question Id : 6154754239 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following institutions 1s related with the Green/Blue Box Subsidies?

(a) United Nations
(h) World Bank

(c) World Tourism Organization

(d) World Trade Organization

Choose the correct option from those given below :

(1) (a) and (d)
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Question Number : 109 Question Id : 6154754239 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HHEREa 3 4 ®F 4 @9E 06/ o5 AlEF T8 J g9iad B

(a)  TIF T
by TIva &=

(c) a7 T2 Oad

(d) g =9aE Oia

= T2u U fawen 4 A9l T =4

(1)  {(a) 3 (d)
(2)  (b) T (d)
(3)  FFA(d)

(4)  FHaA(b)

Options:

61547516522 1
61547516524 2
61547516535 2
61547516536 4

Question Number : 110 Question 1d : 6154754240 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) The main objective of the National Agricultural Insurance Scheme (NAIS) 1
protect the farmers against losses suffered by them due to crop failure on accourn

national calamities

{b) The National Agricultural Insurance Scheme (NAIS) 1= available to all the farn

both loanee and non-loanee irrespective of their size of holding

Which of the statements given above 1s/are correct?

(1) Only (a)

(2) Only (b)

(3) Both (a) and (b)
(4) Neither (a) nor (b)

Options:

61547516537 1
61547516538 2
1547516529 2
61547516540, 4

Question Number : 110 Question Id : 6154754240 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
e AiEd F2H1 T [J9E #
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Question Number : 111 Question Id : 6154754241 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List A and List B and choose the correct answer from the code given below :

List A List B

(a) Quas1Rent (1) A.P. Lerner

(b) Planned Sales Curve (1) P.A. Samuelson
{c) Monopoly Power (m) A. Marshall

(d) Strong Ordering of Preferences (1v) F.Chamberlin
Options :

(1) (a)-(111). (b)-(1v). (e)-(1). (d)-(11)

(2) (a)-(111). (b)-(1v). (c)-(11). (d)-(1)

(3) (a)-(1v). (b)-(111). (e)-(1). (d)-(11)

(4) (a)-(111). (b)-(1). (c)-(av). (d)-(11)
Options:

61547516541, 1

61547516542 2

61547516543 3

61547516544, 4

Question Number : 111 Question Id : 6154754241 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) SATAE ATH (FH 2) 1) T &R
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(c) THIGFE I (iii) . HTEA
(d) HTEEET FT a0 (iv) UF, SErfad
IEET I

(1) (a)-(111). (b)-(1v). (e)-(1). (d)-(11)
(2) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(3) (a)}-(1v). (b)-(111). (¢)-(1). (d)-(11)
(4) (a)-(111). (b)-(1). (e)-(1v). (d)-(11)

Options:

61547516541, 1
61547516542 2
61547516543 2
61547516544 4

Question Number : 112 Question 1d : 6154754242 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) Marginalist Revolution (1) Samuelson

(b)  Multiplier-Accelerator model (11) J.R. Hicks

{(c) IS-LM curves (1) Jevous

(d) Real Business Cycle (1v) Robert J. Borro

Choose the correct option from those given below :

(1) (a)-(111). (b)-(1). (c)-(11), (d)-(1v)
(2) (a)-(11). (b)-(1v). (e)-(1). (d)-(111)
(3) (a)-(111). (b)-(11). (c)-(1v). (d)-(1)

(4) (a)-(1). (b)-(av). (e)-(1m1). (d)-(11)
Options:

51547516545, 1

£1547516546. 2

61547516547 3

51547516548 4

Question Number : 112 Question Id : 6154754242 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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61547516547, 3
61547516548 4

Question Number : 113 Question Id : 6154754243 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match the tests with their purpose given below :

(a) Dickey-Fuller Test (1)  Heterosedasticity
(b) Box-Jenkins Method (1) Causahty

(c) Glejser Test (111) Forecasting

(d) Granger Test (1v) Stationarity

Choose the correct option from those given below :

(1) (a)-(111). (b)-(1). (e)-(11). (d)-(1v)
(2) (a)-(11), (b)-(1v). (e)-(1). (d)-(111)
(3) (a)}-(1v). (b)-(111). (e)-(1). (d)-(11)

(4) (a)-(1). (b)-(11). (c)-(111), (d)-(1%)
Options:

51547516549, 1

51547516550, 2

51547516551, 3

61547516552, 4

Question Number : 113 Question Id : 6154754243 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) Teal-Fet T (1)

(b) FFE-A=FH @Y (ii) =AUl
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(d) TR T (iv) Tera
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(1) (a)-(111). (b)-(1). (c)-(11), (d)-(1v)
(2) (a)-(11). (b)-(1v). (c)-(1). (d)-(111)
(3) (a)-(1v). (b)-(111). (e)-(1). (d)-(11)
(4) (a)-(1). (b)-(11). (c)-(111), (d)-(1v)

Options:

615475165493 1
61547516550 2
1547516551 2
61547516552 4

Question Number : 114 Question Id : 6154754244 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the Economists with their field of contribution in Mathematical Economics :

(a) Slutsky (1)  Linear Programming
(b) Arrow (1) Input-output analysis
(c) Leontief (i) Consumer behaviour analyvsis

(d) Dantzig (iv) CES Production Function
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Question Number : 114 Question Id : 6154754244 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

et F4eE #1 TEE A499E  A0EH % 49 ° G i
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(1) (a)-(11), (b)-(1v). ()-(1}. (d)-(111)
(2) (a)-(11). (b)-(1v). (e)-(11). (d)-(1)
(3) (a)-(1). (b)-(11). (c)-(1v). (d)-(111)
(4) (a)-(1v). (b)-(1). (e)-(111). (d)-(11)

Options:

1547516552 1
E1547516554 2
61547516555 2
61547516556 4

Question Number : 115 Question Id : 6154754245 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Match the following :

(a) Forward Exchange (1)

(b) Hedging (11)
(¢) Arbitrage (111)
(d) Specie point (1v)

Choose the correct option from those given below :

(1) (a)-(11). (b)-(1). (€)-(1v). (d)-(111)
(2) (a)-(11). (b)-(1m1}. (e)-(1v). (d)-(1)
(3) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)
(4) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
Options:

51547516557 1

61547516558, 2

61547516559, 3

51547516560, 4

Prepp

ersonal Exams Guide

A device of covering exchange
against the price mse of fore
currency

A contract to buy and sell fore
exchange against another currencs
some fixed rate in the future atap
agreed upon now

The movement of exchange
between two limits set by the cos
moving gold from one country
another

A mechanism which makes
markets that are phyvsically separ
a single market in the economic sen

Question Number : 115 Question Id : 6154754245 Question Type: MCQ Option Shuffling: No Display Question Number : Y

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0



www.prepp.in
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s

{d'} r'-r-;.-.ﬁ?::’
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(1) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(2) (a)-(11). (b)-(111). (e)-(1v). (d)-(1)
(3) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)
(4) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)

Options:

615475165571

61547516558 2

£1547516553. 3
61547516560, 4
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Question Number : 116 Question Id : 6154754246 Question Type: MCQ Option Shuffling: No Display Question Number : Y

SingleLine Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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Match List-I wath List-II :

(a)

(b)

(c)

(d)

List-I
Fiscal deficit (1)
Budget deficit (11)
Revenue deficit (111)
Primary deficit (1v)

Choose the correct option from those given below :

(1)
(2)
(3)
(4)

Options:

(a)-(m1). (b)-(2). (e)-(11). (d)-(1v)
(a)-(1). (b)-(111). (e)-(11). (d)-(1v)
(a)-(m1). (b)-(2). (e)-(1v). (d)-(11)
(a)-(1v), (b)-(111). (c)-(11). (d)-(1)

51547516561, 1
61547516562, 2
E1547516563. 3
Blz475168564. 4

Prepp

ersonal Exams Guide
Last-II

Excess of total expenditure over tot
recelpts
Excess of revenue expenditure owv
revenue receipts
Excess of total expenditure over tot
recelpts less borrowings

Excess of total expenditure over tot
receipts less borrowings and intere
pavments

Question Number : 116 Question Id : 6154754246 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-1 F1 g=1-11 F W9 FHfe Hi,
gHi-I
(a) TS T (1)
(b) =2 =T (11)
(c) U= =1 (111)
(d) TEEE = (iv)

=111
Fef WAl F ger ° AaF F =1

T T i G H TR S ST
Fel WEAT W IO =2 L OUH TR
AT § A0 Fel =

Tl WIEA W OIUNG A s e
UT=E O T i G991 § 9fas T =g
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Question Number : 117 Question Id : 6154754247 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List-I with List-II and choose the correct option from the options given below :

List-I Last-II
(a) Treasury Bills (1 RBI
(b) Commercial papers (1) IMF
{c) Repo rate (1) Government
(d) SDRs (1v) Private Companies

Options :

(1) (a)-(1v). (b)-(111), (e)-(11). (d)-(1)

(2) (a)-(111), (b)-(av). (c)-(11). (d)-(1)
(3) (a)-(111). (b)-(1v). (e)-(1). (d)-(11)
(4) (a)-(1v). (b)-(111). (c)-(1). (d)-(11)
Options:

61547516565, 1
61547516566, 2
61547516567, 2
51547516565, 4

Question Number : 117 Question Id : 6154754247 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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=11 =11
(a) ol fad (1) 3 & 310
(b) ATOI=g% T (ii) =12 ug U
() TOI & (iil) THE
(d) wHE AR (iv) TI=it =

i

Td=he ¥ :

(1) (a)-(1v). (b)-(111), (e)-(11). (d)-(1)
(2) (a)-(111). (b)-(av). (e)-(11). (d)-(1)
(3) (a)-(111). (b)-(1v). (¢)-(1). (d)-(11)
(4) (a)-(1v). (b)-(11). (e)-(1). (d)-(11)

Options:

61547516565 1
61547516566 2
61547516567 2
61547516568 4

Question Number : 118 Question Id : 6154754248 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Match List-I with List-II : rrepg
Last-I List-II
(a) Head Count Ratio (1)  Extent of poverty
(by Poverty Gap (1) Depth of poverty
(c) Sguare of poverty gap (111) Poverty as deprivation
(d) Mult1 dimensional poverty index (1v) Severity of poverty

Choose the correct option from those given below :

(1) (a)-(11). (b)-(1). (e)-v). (d)-(111)
(2) (a)-(111). (b)-(11). (c)-(1). (d)-(1v)
(3) (a)-(1). (b)-(111). (c)-(11). (d)-(1v)
(4) (a)-(1). (b)-(i1), ()-(v). (d)-(111)

Options:

61547516569 1
61547516570 2
1547516571 2
61547516572 4

Question Number : 118 Question Id : 6154754248 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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=TI O=-11
(a) @S FH2 AT (1)  THIET =R g
(by  THIE 3= (1)  TRIET =l TeAaT (S0 ATF Tad)
(c) THIE FATA = & (i) =9 (SHIEEE) F ¥9 § T
(d) SE-3TEHET T (iv) TR = g=vesar (Haid)
Fr=1 fau U fawen O oE oA

(1) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(2) (a)-(111). (b)-(11). (¢)-(1), (d}-(1v)
(3) (a)-(1). (b)-(111). (e)-(11), (d}-(1v)
(4) (a)-(1). (b)-(11). (e)-(1v). (d)-(111)

Options:

61547516569 1
61547516570 2
61547516571 2
1547516572 4

Question Number : 119 Question Id : 6154754249 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Match List-I with List-II : prepp
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List-I List-II
(a) E. Cannan (1) Optimum population
(b) Frank Netstein (1) Transaction costs
{c) Brundtland (m1) Demographic transition
{(d) Ronald Coase (1v) Sustainable development

Choose the correct option from those given below :

(1) (a)-(1), (b)-(11). (¢)-(111), (d)-(1v)
(2) (a)-(11). (b)-(1). (e)-(1v). (d)-(1i1)
(3) (a)-(1). (b)-(111). (c)-(1v). (d)-(11)
(4) (a)-(111). (b)-(1v). (c)-(11). (d)-(1)

Options:

61547516573 1
61547516574 2
61547516575 2
61547516576 4

Question Number : 119 Question Id : 6154754249 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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T1-1 T-IT
(a) T.FH (i)  =EAH S9EEA
(b) W dETEH (i) “H-71 AN (FTEEE F2)
(c) wIZds (1i1) SHTRERIE HehHT
(d) TS F:H (iv) Tdd (amofid) fTwE
= fou U 4§ oE fawed 9HT

(1) (a)-(1). (b)-(11). (e)-(11). (d)-(1v)
(2) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(3) (a)-(1). (b)-(111). (e)-(1v). (d)-(11)

(4) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)

Options:

61547516573
1547516574
61547516575,
61547516576,

W LM

Question Number : 120 Question Id : 6154754250 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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List-I Last-II
(a) CAPART (1)  Agricultural marketing
(b) SIDO (1) Quality Guarantee
{c) NAFED (111) Small Industries
(d) AGMARK (tv) Rural Technology

Choose the correct option from those given below :

(1) (a)-(1). (b)-(11). (e)-(111). (d}-(1v)
(2) (a)-(1v). (b)-(111). (e)-(11). (d)-(2)
(3) (a)-(1v). (b)-(11). (c)-(111). (d)-(1)
(4) (a)-(11). (b)-(1v). (e)-(1). (d)-(111)

Options:

615475165771
61547516573 2
61547516573 2
61547516580 4

Question Number : 120 Question Id : 6154754250 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Tl LI
(a) I (CAPART) @  F fame
(b) Hi=l (SIDO) (i)  TUTEET A
(c) ATFS (NAFED) Gil) = FE
(d) W (AGMARK) Gv) I S

T fore T

(1) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(2) (a)-(1v). (b)-(111). (e)-(i1). (d)-(1)
(3) (a)-(1v). (b)-(11). (c)-(111). (d)-(i)
(4) (a)-(11). (b)-(1v). (e)-(1). (d)-(1m1)

Options:

61547516577 1
61547516578 2
61547516573 2
61547516580 4

Question Number : 121 Question 1d : 6154754251 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Arrange 1n chronological order the following contributions of economists PHIQBQW.

Personal Exams Guide’

consumer. Choose the correct answer :

(1) Linear Expenditure Syvstem. Revealed preference Theory. Cardinal Theory. Ord:

Theory

(2) Cardinal Theory. Ordinal Theory. Revealed Preference Theorv. Linear Expendit

System

(3) Cardinal Theory. Revealed Preference Theory. Ordinal Theory. Linear Expendit
Svatem

(4) Revealed Preference Theory. Cardinal Theory. Linear Expenditure System. Orda
Theory

Options:

51547516581 1
61547516582 2
61547516582 2
61547516584 4

Question Number : 121 Question Id : 6154754251 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) i@ =3 Iell, 99 AemH (S TgE, HEEE Tgh (Fiedd i), a1
(HATET= 22T

(4) e EaH WgE. THEET [Ggd, Tias =99 9=, FHaaEs W

Options:

61547516581 1
61547516582 2
61547516583 2
61547516584 4

Question Number : 122 Question Id : 6154754252 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify the correct chronological order of the following :

(a) Havek Theoryv of Investment
(b) Fisher Theory of Investment
(c) Jorgenson’s Theory of Investment

(d) Markowitz Theory of Investment

Select the correct option from those given below :

(1) (b). (a). (d). (c)
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Question Number : 122 Question Id : 6154754252 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Id-'_‘l. Eli;:l Iai ?‘l' .34‘34 W E‘-F"l ::F ’3 Iﬂ:lan]'_iﬂ :Ix ':""]'iii-"a]_f{ :iatﬁvlﬂ.l e

(a) &% * Ow fogE
A
(c) AN = e fagE

(d)  HEhifged = Taw g

(1) (b). (a). (d). (c)
(2) (d). (b). (c). (a)
(3) (c). (a). (b). (d)
(4) (a). (c). (d). (b)

Options:

61547516585 1
61547516586 2
61547516587 2
1547516588 4

Question Number : 123 Question Id : 6154754253 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In terms of thewr contribution to Econometrics which 1z correct chronological order :

(1) L.R. Klein. H. Theil. A L. Nagar. T. Haavelmo
(2) AL. Nagar. T. Haavelmo. L.R. Klein. H. Theil
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Question Number : 123 Question Id : 6154754253 Question Type: MCQ Option Shuffling: No Display QuestiomNuitityer Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FUMGIT § 576 TEF % 954 § Feengd § ¥ SHE Femaan 95 27

(2)  ©USA, AVE, 9 2=l AN, o, v o

(4) wg. diE, TA.HR. FoH, T, AU, 9. FEeE
Options:
1547516589 1
61547516590 2
61547516591 2
61547516592 4

Question Number : 124 Question Id : 6154754254 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which 1s correct chronological order of Economists contributing to input-output analysis

(1) Hawkins-Simon. Leontief. Karl Marx. Quesnay
(2) Karl Marx. Quesnayv. Leontief, Hawkins-Simon
(3) Quesnay., Karl Marx. Leontief, Hawkins-Simon
(4) Leontief. Hawkins-Simon. Karl Marx. Quesnay
Options:

515475165393, 1
Blz4751685394. 2
B15475165395. 3
61547516556, 4

Question Number : 124 Question Id : 6154754254 Question Type: MCQ Option Shuffling: No Display Question Number : Y
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
. - - - - - - .-r - = i B N S (&) -T"}I.-
HATH —E:l‘iﬂ 790 H ATEAFI JADEMEED 0/ A" § H ] EAEES T IR el & 1
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61547516593 1 prepp
61547516594, 2 et
61547516595, 3
61547516596, 4

Question Number : 125 Question Id : 6154754255 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following theories of international trade in chronological order as they appear

(a) Theory of Opportunity Cost
(b) Theory of Comparative Cost
(c) Factor Price Equalisation Theorem

(d) Theory of absolute cost

Identify the correct chronological order.
(1) (d). (b). (a). (c)
(2) (c). (h). (d). (a)
(3) (b). (d). (a). (c)

(4)  (a). (). (d), (b)
Options:
B15475165497. 1
E154751E588. 2
51547516599 3
51547516600 4

Question Number : 125 Question 1d : 6154754255 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(a) 3G @Fd # g

(b)  ATHE AT T HGH
{c_} s e B Eﬂ.

(d)  THE 9 (TR i) 1 Eg

HE| Tt TEATET

(1) (d). (b). (a). (c)
(2) (c). (b). (d). (a)
(3) (b). (d). (a). (c)

(4) (a). (c). (d). (b)

Options:

61547516597 1
61547516598 2
615475165993 2
61547516600 4

Question Number : 126 Question 1d : 6154754256 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Arrange the following in chronoclogical order :

(a) The Indirect Tax Enquiry Committee (Jha Committee)

(h) Tax Reforms Committee (R.J. Chellaiah Committee)

(c) Taxation Enquiry Commission (Mathur Committee)

(d) The Direct Tax Enguiry Committee (Wanchoo Committee)

Choose the correct option from those given below :



Question Number : 126 Question Id : 6154754256 Question Type: MCQ Option Shuffling: No Display Quest
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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fefeiad =1 FEEAEEr Hafeg Fifae

(a)  HATEAE F A= AHE (20 AEE)

(b) T GUW A (W, == A@iEt)
(¢)  THUEM == A (A D)

(d)  TeE w A G (Fg =)

= fou @ g 1 =F e g

(1) (c). (b). (d). (a) (2) (c). (a). (d). (b)
(3) (b). (). (a). (d) (4) (e). (d). (a). (b)
Options:

51547516601, 1
Bl2475168E02. 2
E1547516E03. 3
61547516604 4

Question Number : 127 Question 1d : 6154754257 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following 1s the correct sequence in the ascending order of the magnituc

(1) Repo Rate. Reverse Repo Rate. Statutory Liquidity Rate (SLR) and Marg
Standing Facility Rate (MSFR)

(2) SLR. MSFR. Repo Rate. Reverse Repo Rate

(3) Repo Rate. SLR. MSFR. Reverse Repo Rate

(4) Eeverze Repo Rate. Repo Rate. MSFR. SLE

Options:

61547516605 1
61547516606 2
61547516607 2
1547516608 4

Question Number : 127 Question Id : 6154754257 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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61547516605 1 prepp
61547516606, 2 et
61547516607, 3
61547516608, 4

Question Number : 128 Question Id : 6154754258 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the following books in the correct chronological order :

(a) Das Capital
(b) Value and Capital
(c) Capital and Growth

(d) Accumulation of Capital

Choose the correct option :

(1) (d). (b). (). (a)
(2) {a). (b). (d), (c)
(3) {a). (b). (c). (d)

(4) (b). (a). (d). (c)
Options:
51547516609, 1
51547516610 2
51547516611 =
51547516612 4

Question Number : 128 Question Id : 6154754258 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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FrfeIfigd Tl F1 TEl FATTHAY F0 H oFared =+ 'repp
(a) =9 FiUed

(b) g WS A
(c) B R ER |

(d)  THEIHAEH HATE Faed

(1) (d). (b). (c). (a)
(2) (a). (b). (d). (c)
(3) {a). (b). (c). (d)

{4) (b). (a). (d). (c)

Options:

61547516609 1
61547516610 2
61547516611 2
1547516612 4

Question Number : 129 Question Id : 6154754259 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Arrange the following in the chronologieal order in which these happened : 'repp

{(a) Pariz Climate Agreement
(b) Rio Earth Summit
{c) Brundtland Commaission

(d) Kyoto protocol

Choose the correct option :

(1) (a). (b). (c). (d)
(2) (b). (d). (a). (c)
(3) (d). (b). (c). (a)

(4) (c). (b). (d). (a)

Options:

61547516613 1
61547516614 2
1547516615 2
1547516616 4

Question Number : 129 Question Id : 6154754259 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) TG FAEE T
(b) T g feveEt T

© T2 e

(d) 2T T
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(1) (a). (b). (c). (d)
(2) (b). (d). (a). (c)
(3) (d). (b). (c). (a)

(4) (c). (b). (d). (a)

Options:

61547516613 1
61547516614 2
1547516615 2
61547516616 4

Question Number : 130 Question Id : 6154754260 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Arrange the following events in chronological order :

(a) First phase of Nationalizsation of Commercial Banks
(b) Eztablishment of Narashiman Committee on banking system
(c) Enactment of FEMA Act

(d) Establishment of EXIM Bank of India
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Question Number : 130 Question Id : 6154754260 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

qRAT Ad=aE =1 FEfafiad el F1 FEFIIEn #9 § geattE #+

(b) ST ST T TR Aigta = T
(c)  THAT HATGHIH AN AT AH

(d)  AFd % UFaH sF i =0

el 4 Al [ded 94

(1) (a). (). (d). (h)
(2) (a). (d). (b). (c)
(3) (a). (c). (b). (d)

(4) (a). (d). (c). (b)
Options:
61547516617, 1
515475166138 2
51547516619 2
51547516620 4

Question Number : 131 Question Id : 6154754261 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Given below are two statements — one 1s labelled as Assertion (A) and the ﬂt.herlg%pege-

Personal Exams Guide

Reazon (R) :

Assertion (A) : For certain goods. the expenditure by the consumers decreases.

Reasons (R) : For such goods. the income elasticity of demand 1s hagh.
In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s correct explanation of (A)
{(2) Both (A) and (R) are true and (R) 18 not correct explanation of (4)
(3) (A) 1s true but (R) 1= false

(4) (A) 1s false but (R) 1s true
Options:

615475166211

1547516622 2

£1547516E22 2

61547516624 4

Question Number : 131 Question Id : 6154754261 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
1 31 e fou 1 # foml v w1 e (A) a9 59 F @ (R) T R

FATTFI (A) : el FEAHA! % A0, T g w@iE = o e e 2
T (R) : 3% T3+ T am 6 33 == afas a6 2
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61547516621, 1 prepp

615475168622 2 Personal Exams Guide
615475168623 3
61547516624 4

Question Number : 132 Question Id : 6154754262 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements — one 1s labelled as Assertion (A) and the other 1s labellec

Reason (R) :

Assertion (A) : In classical model. investment demand 1s regarded as autonomous
changes 1n income or employment

Reasons (R) : It 1s wage price flexibility which brings full employment in the class

model

In the light of the above two statements. choose the correct option :

(1) Both (A) and (R) are true and (R) 1= correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not correct explanation of (A)
(3) (A) 18 true but (R) 1s false

(4) (A) 1s false but (R) 1s true
Options:

61547516625 1

1547516626 2

1547516627 3

61547516625 4

Question Number : 132 Question Id : 6154754262 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547516625 1
61547516626 2
61547516627 2
61547516628 4

Question Number : 133 Question 1d : 6154754263 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements : Given below are two statements — one 1s labelled

Assertion (A) and the other is labelled as Reason (R) :

Assertion (A) : Geometric Mean 1z theoretically considered as the best average

Construct Index Numbers

Heazonsz (R) : Geometric mean 1s used if the range of obzervations are extremely large

In the light of the above two statements. choose the correct option :
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Question Number : 133 Question 1d : 6154754263 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

= =1 FeA e o £ -

ATTFR (A) : T A § S 5 g JaieE S e 5 T 2
% (R) : AT A6 1 YA a9 {491 F0a1 2 99 961 6] G a5d w95 2l 2|

ST FUAT 6 Hed 0 wE faEed =1

(1) (A) 1 (R) 5H1 |&1 2 31 (R). (A) =il @& =aw=n 2
(2) (A) 73 (R) =H1 T2t 7 311 (R). (A) =i T2 =aw= 74 2
(3) (A) T= & 31 (R) 719 2

(4) (A) 7T B 3 (R) OF 7

Options:

61547516629 1
61547516630 2
61547516631 2
61547516632 4

Question Number : 134 Question 1d : 6154754264 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Given below are two statements — one 1s labelled as Assertion (A) and the m;heﬁ!ﬁﬁﬂc
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Reazon (R) :
Assertion (A):  CES production function covers large class of production functions
Reazons (R) : CES production function has the property of constancy of elasticity of fac

substitution
In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not correct explanation of (A)
(3 (A) 1s true but (R) 1= false

(4) (A) 1s falze but (R) 1= true
Options:

E1547E1EE=23 1

61547516634 2

61547516635 3

615475166326 4

Question Number : 134 Question Id : 6154754264 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 135 Question Id : 6154754265 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
(Given below are two statements — one 1s labelled as Assertion (A) and the other i1s labelle

Heason (R) :

Asszertion (A): Intellectual Propertv Rights were brought into the Uruguay Rom

Trade Negotiations

Reaszons (R) : International trade restrictions can be used to discourage the violatiom

intellectual property rights.
In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options:

615475166371
61547516638 2
61547516639 2
61547516640 4

Question Number : 135 Question 1d : 6154754265 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547516637 1
61547516638 2
615475166393 2
61547516640 4

Question Number : 136 Question Id : 6154754266 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The problem relating to burden of public debt has been dealt by

(a) AP. Lerner
(b) E.D. Domar
(c) A.C. Pigou

(d) A H. Hansen

Select the correct answer from the options given below :
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Question Number : 136 Question 1d : 6154754266 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
HAfaliad o 4 foe drEsis E0 & 902 O gaigd A9E = Tiquied = 27
(a) T TR
(b) 2. W
(c) u.HT. T

(d)y T.UH, A

(1) (a) 74T (b)
(2) (b)) 9= (c)
(3) (a) 747 (d)

(4) (b) 941 (d)

Options:

61547516641, 1
61547516642 2
61547516643 2
61547516644 4

Question Number : 137 Question 1d : 6154754267 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Given below are two statements — one 1s labelled as Assertion (A) and the Dthengﬁgﬂt

Personal Exams Guide

EReazon (R) :

Aszertion (A):  In order to control inflationary tendencies. RBI raises the repo rate

Reazons (R) : Bv so during. RBI wishes to control consumption demand
In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (B) 15 correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true
Options:
1547516645 1
1547516646 2
1547516647 2
1547516648, 4

Question Number : 137 Question Id : 6154754267 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 138 Question Id : 6154754268 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements — one 1= labelled as Assertion (A) and the other i1s labelle

Reason (R) :
Assertion (A) : Inclusive growth 1s a must for a country like India
Reasons (R) : India 1s an open economy with a significant external sector

. In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1= correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not correct explanation of (A)
(3) (A) 12 true but (R) 1= false

(4) {A) 12 false but (R) 1= true
Options:

1547516649 1

1547516650 2

E1547E1EEE1 2

1547516652 4

Question Number : 138 Question Id : 6154754268 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

1547516649 1
1547516650 2
61547516651 2
61547516652 4

Question Number : 139 Question Id : 6154754269 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two statements — one 15 labelled as Assertion (A) and the other 1s labelle

Reason (R) :

Assertion (A) : Parties to a dispute over property rights will be able to negotiate

economically optimal solution

Reasons (R) : There are efficient. competitive markets and there are no transaction cc

. In the light : of the above two statements choose the correct option :
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Question Number : 139 Question 1d : 6154754269 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Fr= =1 Fo fou e € T v i At (A) 39 = B a6 (R) T T E
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(1) (A T9 (R) 5F1 9= 2 371 (R). (A) =1 T8l =awen 2
(2)  (A) T (R) 5A1 891 # 31 (R). (A) =i 981 =3we 74 2
(3) (A) H&T 2 31 (R) 7oA 2

(4) (A) Teid 7 3 (R) O 7
Options:
BE1547516653 1
E154751EE54 2
51547516655 2
51547516656, 4

Question Number : 140 Question Id : 6154754270 Question Type: MCQ Option Shuffling: No Display Question Number : Y
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Given below are two statements — one 12 labelled as Assertion (A) and the otheg %g?%%gﬂ

Reaszon (R) :

Assertion (A):  Disguised unemployment 1s present in India
Rea=zons (R) : Agricultural productivity at margin is close to zero

. In the light : of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1= false but (R) 1s true
Options:

615475166571

61547516658 2

61547516659 3

1547516660 4

Question Number : 140 Question Id : 6154754270 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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; g passage and answer questions . which follow:

Industrialization and growth

From the global perspective, there seems to be a close association across countries between
living standards and the share of resource devoted to industrial activities, at least up to a
certain point. In very poor countries there is virtually no industrial activity at all, while
the middle- and high-income countries devote 20-40 per centl of resources to industry.
Only three countries in the world have become rich on agriculture alone : Australia,
New Zealand and Canada. In all other countries, living standards have risen rapidly

only as resources have shifted out of agriculture into industry and sophisticated services.

Furthermore, research also shows a close association across countries between the growth of
industry and the growth of GDP; or more precisely, that GDP growth is faster the greater the
excess of industrial growth relative to GDP growth: that is. when the share of industry in
total GDP i1s rising the fastest. Figure shows this relationship across 131 developing
countries over GDP is rising the fastest. Figure shows this relationship across 131
developing countries over the period 2000-2005, with GDP growth measured on the vertical
axis and the growth of industry.

Association between growth of industry and growth of GDP

140
5
0] .
°
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-] <
c; .
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,80{° o 3 &
°§ z 1e o Y §° &
'oq: : % .
L o
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2’5o . : : X
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. s 207 industial growth (x)
4.0

on the horizontal axis. The scatter points represents the individual country observations. A
line through the points with a slope less than unity shows that the greater the excess of
industrial growth over GDP growth. the faster GDP seems to be. The point where this line
cuts the 45-degree line gives the average growth rate that divides countries into those where
the shares of industry is falling and are growing slowly. and those where the share of

industry 1s rising and are growing fast. A linear equation fitted to the scatter points in
Figure gives the following regression result :

£=2529+0.394x > =0.507

The equation says that the country with industrial growth one percentage point above the
average for all countries will have GDP growth of 0.394 percentage points above the average.
and the point where the regression line cuts the 45-degree line is approximately 4.5 per cent.
This rate of industry growth separates the slow-growing countries from the faster-growing
countries.

The question is : what is special about industry, and particularly manufacturing industry,
which accounts for these empirical associations, and which makes industry ‘the engine of
growth? Since differences in the growth of GDP are largely accounted for by differences in
the rate of growth of labour productivity, there must be an association between the zrowth of
industry and the growth of labour producitivity. This is to be expected for two main reasons.
First, if there are increasing returns to scale in industry, both static an dynamic, a relation 1s
to be expected between the growth of industrial output and the growth of labour productivity
in industry Static economies of scale refer to the economies of large-scale production

prepp
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Question Number : 141 Question Id : 6154754272 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Dynamic economies of scale do not include which one of the following :

(1) Induced effect of output growth on capital accumulation

(2) Improvement in quality of capital due to new technology

(3) The Labour intensive sector will experience increasing returns will growth of output

(4) A shift from less productive to more productive sector will lead to a rise in t
average product of labour

Options:

61547516661 1
61547516662 2
61547516662 2
1547516664 4

Question Number : 142 Question Id : 6154754273 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Consider the following statements.

(a) The association between growth of industry and growth of GDP. make industrv
‘engine of growth’

(b) Differences in GDP growth do not account for growth in labour productivity

(c) GDP growth rates are reflected 1n the growth rate of labour productivity

(d) The growth of industry 1s subject to increasing returns

Choose the correct option from below :
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Question Number : 143 Question Id : 6154754274 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Consider the following statements 1n relation to the figure.

(a) The 45° line would indicate equal correspondence between industrial growth rate
GDP growth rate

(b) GDP growth rate 1s the cause of industrial growth rate

(c) The excess of industrial growth rate over GDP growth rate 1s fuelling more GDP

(d) The dividing hine of slow and fast growing economies 1s the industmal growth rat
3.9%

Choose the correct option :

(1) Only (a) and (c) are true
(2) Only (a) and (b) are true
(3) Only (a). (b) and (d) are true
(4) Only (b) and (d) are true

Options:

61547516669 1
61547516670 2
61547516671 2
61547516672 4

Question Number : 144 Question Id : 6154754275 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following statement 1s not correct for middle and highly develo
countries?

(1) These devote on an average 30 percent of the resources to industrial activity

(2) Growth of industral activity involves shift of resources from agriculture to industr
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Question Number : 145 Question Id : 6154754276 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following statement 1s correct?

(1) There 1s a positive relation between living standard and resources denoted
industrial activity 1n few countries

(2) There is a close association between living standards and resources utilized

(3) The relation between the living standards and resources denoted to industr
activity 1s globally true

(4) There 15 little association between hiving standards and resources utilized

Options:

Bl547516E7Y. 1
B154751BE7E. 2
61547516673 3
51547516680, 4

Question Id : 6154754271 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior
Questions: No

Question Numbers: (141 to 145)
Cuestion Label - Comprehension



